UGC NET 2021 Archaeology

Topic:- 67Archaeology_A

1) Typology and morphological aspects indicate that the Mesolithic people in Kerala had used which raw material in
maximum number?

gufersirel iz U fstenca® usey gorld 3 fib d2a 3 AL urdvIcIcilel clisll of b1 ded il @I YT 3if2rpad iz 3 fopar e ?

[Question ID = 1191][Question Description = S2_qSNz_PG_ARC_Q01]
1. Agate/swIe [Option ID = 4761]

2. Quartz/gardst [Option ID = 4762]

3. Chalcedony/Biae 3wfew (Deisielt) [Option ID = 4763]

4. Diorite/smssiRise [Option ID = 4764]

Correct Answer :-
e Agate/sdIc [Option ID = 4761]

2) Terrace-2 (T-2) of Soan river valley deposit was correlated to which one of the following?

Il oiél "1él forgiu &l afgmr - 2 (& - 2) forvotfeiRaa d wlel v A AsAdierd off ?

[Question ID = 1192][Question Description = S2_qSNz_PG_ARC_Q02]
1. First glaciation/yewt f3arier [Option ID = 4765]

2. Second glaciation/fgedRr Barior [Option ID = 4766]

3. Third glaciation/qd¥ f@amrer [Option ID = 4767]

4. Third interglaciation/qedl siafdarmer [Option ID = 4768]

Correct Answer :-
e First glaciation/ygemr ot [Option ID = 4765]

3) From which of the following site Mesolithic tools occurred over Magdalenian implements?
forgarfeiRaa 3 A1 a1 Ferar A FoISIcIorerel 3UmWT B HUR ALAUTHIVIDIciicl IUDUT UTe 31T ?

[Question ID = 1193][Question Description = S2_qSNz_PG_ARC_Q03]
1. La Solutre, France/en 3re=ie,, wiat [Option ID = 4769]

2. Maglemose, Denmark /e, Soenm [Option ID = 4770]

3. Lyngby, Denmark/fereciter [Option ID = 4771]

4. Mas d'Azil, France/am1 - & - 3ifStet, wizt [Option ID = 4772]

Correct Answer :-
® |a Solutre, France/en 3ez]g, , Bizt [Option ID = 4769]

4) The first discovery of Dryopithecus mandible was made by
SR difSac & geer st fioad gr1 & o eff

[Question ID = 1194][Question Description = S2_qSNz_PG_ARC_Q04]

1. Lartet/arcle

[Option ID = 4773]
2. L. S. B. Leakey/uveruadt. cficht

[Option ID = 4774]
3. G. E. Lewis/sft & frfea

[Option ID = 4775]
4. Raymond Dart/3ws sié

[Option ID = 4776]
Correct Answer :-
e Lartet/ccle
[Option ID = 4773]

5) According to H. de Terra and T. T. Paterson there are two parallel divergent lithic cultural traditions. These are:
wer. 31 &I 3R &L . Uedel @ IGRIR I AHTGIoR AURIRT UTHIviRI ARDIT® URuRT Jeiier I Sil 3 :

[Question ID = 1195][Question Description = S2_qSNz_PG_ARC_QO05]
1. Narmada chopper-chopping industry, and Madras handaxe industry/ssfer dfuz - aftier 3zt sl FIGRI ST JelsT

[Option ID = 4777]
2. Narmada handaxe industry and Soan pebble industry/smier sxamor 3elisr 3ii et Udel 3eliet



[Option ID = 4778]
3. Narmada handaxe industry and Brahmagiri stone axe industry/smfer szagorR el 3l g@Ifsif¥ urmr @or Jeher ol Usel 3elsl 3l AGRI &3 POR el

[Option ID = 4779]
4. Soan pebble industry and Madras handaxe industry/=iler Udet 3iR #GRI &3 BOR

[Option ID = 4780]

Correct Answer :-
e Narmada chopper-chopping industry, and Madras handaxe industry/snier dfuz - aiftier 3zier iz FIgRI 33T 3eieT
[Option ID = 4777]

6) The first discovery of a Neolithic celt from Kerala was made by:

DT D IqUIHIVIDIcilol BealSt D YA sl fopol bl off :

[Question ID = 1196][Question Description = S2_qSNz_PG_ARC_QO06]
1. K. R. U. Todd/d.amee, ¢ts [Option ID = 4781]

2. P. Rajendran/di. Iteger [Option ID = 4782]

3. Philip Lake/fbfera dias [Option ID = 4783]

4. Thomas Kunnikal/ eisrt ofsotaer [Option ID = 4784]

Correct Answer :-
e K.R. U. Todd/@®.3m.3, ¢fs [Option ID = 4781]

7) Which one of the following industries was the first European industries of the upper palaeolithic?
forgotfcri¥aa 3 lol AT TP 3BT I - YRIUTHIVI PIcl @ JRAU DI YRAH IJekT 8 7
[Question ID = 1197][Question Description = S2_qSNz_PG_ARC_Q07]

1. Aurignacian/sii$isoifdrrer [Option ID = 4785]
2. Perigordian/tSlenfSaet [Option ID = 4786]

3. Solutrean/=iicgfczior [Option ID = 4787]

4. Magdalenian/sererciforrer [Option ID = 4788]

Correct Answer :-
® Aurignacian/sif$isaifSrrer [Option ID = 4785]

8) The first phase of the culture at Chopani Mando is:
Aurefl AU Gt BT BT Yerr arvr 3 ¢

[Question ID = 1198][Question Description = S2_qSNz_PG_ARC_Q08]
Middle Palaeolithic/aer geumfora [Option ID = 4789]
Early Upper Palaeolithic/yrfistes 3ca gmmifiis [Option ID = 4790]

Epipalaeolithic/sig] grumifires [Option ID = 4791]
Mesolithic/#er geumifoie [Option ID = 4792]

A W N -

Correct Answer :-

o Middle Palaeolithic/#e=r geumifors [Option ID = 4789]

9) Middle Palaeolithic site of Baidha is located on
e BT HeA YRIUMYIIDG Ferel el UR rafderd 3 ?

[Question ID = 1199][Question Description = S2_qSNz_PG_ARC_Q09]
Adwa river/asrear o1t w [Option ID = 4793]

Tons river/disA oict w2 [Option ID = 4794]

Son river /3t st w2 [Option ID = 4795]

Gopad river/siug @iét w [Option ID = 4796]

A w N -

Correct Answer :-
® Adwa river/smar ai¢t w [Option ID = 4793]

10) Preservation of fossilized tree fragments at a Lower Palaeolithic site has been reported at:

o fordel YRIAMIOID Ferel A A3 slarfdsd ga1 oI udr el 3 ©

[Question ID = 1200][Question Description = S2_qSNz_PG_ARC_Q10]
1. Paisra/@a=1 3 [Option ID = 4797]

2. Sihawal |/Rsract - | 31 [Option ID = 4798]

3. Durkadi/gzast 3t [Option ID = 4799]

4. Chirki/fast 3 [Option ID = 4800]

Correct Answer :-
® Paisra/dr 3 [Option ID = 4797]

11) The stratigraphic sequence at Patne in northern Maharashtra is as:



Al IBRISE D UeU 3 IR 3idd Bl IS U 8 ©

[Question ID = 1201][Question Description = S2_qSNz_PG_ARC_Q11]

1. Lower Palaeolithic, Middle Palaeolithic, Mesolithic /ool - rumaIvIDIct, #eA - YRAUNIUIDICT, #e - UMl aiel [Option ID = 4801]

2. Lower Palaeolithic, Upper Palaeolithic, Mesolithic/fower - grumUIbIel, 3a - YRUmIUIPIc, e ol [Option ID = 4802]

3. Middle Palaeolithic, Early Upper Palaeolithic, Late Upper Palaeolithic and Mesolithic/#e1 - grumLDIc, ARM¥D Icad YRAUMNIIDIC], 302 3cd YIUINIUI DIt
32 Fteer - urwmr wret [Option 1D = 4803]

4. Middle Palaeolithic, Late Upper Palaeolithic, Mesolithic/#eer - grummrIel, 302 Icd YRIUNIUIDIC, 3¢ - UMl il [Option ID = 4804]

Correct Answer :-
e Lower Palaeolithic, Middle Palaeolithic, Mesolithic/fwer - YruIeIUIDIEr, 3TE?T - YRAUMIVIDIE, reeT - urmr et [Option ID = 4801]

12) Hokra is a Lower and Middle Palaeolithic site located in:

31, U forval 3T A YRIUTHIVT Icilel Feret sraf¥erd 3 :
[Question ID = 1202][Question Description = S2_qSNz_PG_ARC_Q12]

. Madhya Pradesh/aezmgger 3 [Option ID = 4805]
. Rajasthan/zmstzermot 3 [Option ID = 4806]

. Maharashtra/a@rise 3 [Option ID = 4807]

. Uttar Pradesh/3myger 4 [Option ID = 4808]

A W N -

Correct Answer :-
e Madhya Pradesh/aezmgger 3 [Option ID = 4805]

13) Bed and Cemented Gravel | of the Seoti, a tributary of Belan is significant for
Al oiét i detol Bl ABRIP oISt 3, D et 3iIR A YA DI SIHE sAD fere srseayyt 3 :
[Question ID = 1203][Question Description = S2_qSNz_PG_ARC_Q13]

1. Handaxes made on flat chunks/fme d@ w2 ot seaqmorR

[Option ID = 4809]
2. Chopper and Chopping tools/dfuz 3iiz diftier 3uamur

[Option ID = 4810]
3. Levalloisian flakes/cenf3rror werd

[Option ID = 4811]
4. Upper Palaeolithic tools/3ca gerumir drefior 3uaut

[Option ID = 4812]
Correct Answer :-
e Handaxes made on flat chunks/Rme d@ W ¥ol 3I@oR

[Option ID = 4809]

14) Archaeological deductions were made from the study of which tribe at Paisra?

Tt 3t [p=1 Srotstfer @ 3reRI6l A YRIAIfead forsad forepret sRI ?
[Question ID = 1204][Question Description = S2_qSNz_PG_ARC_Q14]

. Bhils/sfter [Option ID = 4813]

. Kodas/orsma [Option ID = 4814]

. Chenchus/dg [Option ID = 4815]

. Musahars/zpisz [Option ID = 4816]

A w N =

Correct Answer :-

e Bhils/sfler [Option ID = 4813]

15) A distinctive pottery associated with the growth of towns, trade and metallic currency in northern India in the middle
of the first millennium B.C. is:

I3l MRA J Uscll 9SS $. Y, D AL d Pdl; RMUR 3R enrqdgl 3 gic D A1 fafdrse Posvs Ader a3 ?

[Question ID = 1205][Question Description = S2_qSNz_PG_ARC_Q15]
Black on Red ware/ict 3iiz cret urg u3ur [Option ID = 4817]

Ochre coloured Pottery/3isu 31 @ gcamvs [Option ID = 4818]

Painted Grey Ware/fifefd - g2 urq w3ur [Option ID = 4819]

Northern Black Polished Ware /33t @wr anfsia ureg waur [Option ID = 4820]

AW N =

Correct Answer :-
e Black on Red ware/rcl 3fiz ciret uref wdu=r [Option ID = 4817]



16) Which of the following cultures is characterised by the use of iron tools and Black-and-Red ware?
forgatferiRaa Firaieril 3 A ®iot Al cils IumWI 3R DIl 3R Il Ul WRWRI B 33 GRI faordiad 3?

[Question ID = 1206][Question Description = S2_qSNz_PG_ARC_Q16]

1. Ochre Coloured Pottery culture/3rse 381 @ Fgenus i [Option ID = 4821]

2. Painted Grey Ware culture/Rifefd - ¢RR urg w1 Wil [Option ID = 4822]

3. Megalithic culture/a@mmmT wrefior ewfer [Option ID = 4823]
4. Rangmahal culture/FwErsa Axapfer [Option ID = 4824]

Correct Answer :-
® Ochre Coloured Pottery culture/3se 31 @ Fcavs 3zpia [Option ID = 4821]

17) A row of 'seven alters' has been found in the citadel at which of the following Harappan sites?
forgsiferRaa b1 sstur Ferel @ goldiq A v Uufep 3 A sifderms gra gu 3 ?

[Question ID = 1207][Question Description = S2_qSNz_PG_ARC_Q17]

1. Lothal/elterer [Option ID = 4825]

2. Kalibangan/mrcfidsm [Option ID = 4826]
3. Dholavira/ziemdiar [Option ID = 4827]
4. Banawali/sotracft [Option ID = 4828]

Correct Answer :-
e |othal/eherer [Option ID = 4825]

18) In India, Arretine ware was for the first time, discovered at:

HRA 3 3RCISol JSHIUS AdYLH Dal IS 3RIT o ?
[Question ID = 1208][Question Description = S2_qSNz_PG_ARC_Q18]
1. Kanchipuram/idiger
[Option ID = 4829]
2. Arikamedu/3if¥®mEg,
[Option ID = 4830]
3. Salihundam/rctigsa
[Option ID = 4831]
4. Uraiyur/3¥%R
[Option ID = 4832]

Correct Answer :-
e Kanchipuram/oicfigzar

[Option ID = 4829]

19) In south India, which one of the following Ages emerged straight from the Neolithic stage?

cf3ror sira & forsifeiRaa fsar orer A srauryrer azur A A sil¥aca a sm=n?

[Question ID = 1209][Question Description = S2_qSNz_PG_ARC_Q19]
1. Bronze Age/mizx ot [Option ID = 4833]

2. Chalcolithic Age/amwy - urmur gat [Option ID = 4834]

3. Iron Age/cils - 3ot [Option ID = 4835]

4. Sangam Age/3bw1 got [Option ID = 4836]

Correct Answer :-
® Bronze Age/wts gor [Option ID = 4833]

20) Which technology was primarily responsible for the growth of Second Urbanization in the Ganga Plain?

3ion @ et A TR sl & faRT 3 Pl - 2l awolle ygra wu A Iacrl off ?

[Question ID = 1210][Question Description = S2_qSNz_PG_ARC_Q20]
1. Stone technology/ummr awmsfte [Option ID = 4837]

2. Copper technology/ e awmeflas [Option ID = 4838]

3. Iron technology/ciis adofla [Option ID = 4839]

4. Chalcolithic technology/@my urfores dwetias [Option ID = 4840]

Correct Answer :-
e Stone technology/umvr aaoflas [Option ID = 4837]

21) Which of the following objects usually bear the Harappan script?
forrafeRaa fapzr avq ur ssur faftr @1 siwot 3 ?

[Question ID = 1211][Question Description = S2_qSNz_PG_ARC_Q21]



. Stone images/gzaR frer [Option ID = 4841]

. Bricks/s¢ [Option ID = 4842]

. Seals/gs3 [Option ID = 4843]

. Metal images/erq &t gfefait [Option ID = 4844]

A W N -

Correct Answer :-

e Stone images/gxa= frer [Option ID = 4841]

22) The stone bust of a male figure found at Mohenjodaro has been labelled:
JHIsotslcs! A Y UTHIVI I Yy IDid oI &3 fpeaer 3 ?

[Question ID = 1212][Question Description = S2_qSNz_PG_ARC_Q22]
Priest-King/gRifa - arsm [Option ID = 4845]

Proto Shiva/yrp, - fora [Option ID = 4846]

Pashupati/ugpufer [Option ID = 4847]

Purander/gzcz [Option ID = 4848]

A W N -

Correct Answer :-
e Priest-King/gRiféa - am [Option ID = 4845]

23) Which of the following materials has been used for making the sculpture of King/Priest found at Harappa?

gswI A U 3R s / geit &l gfef @ e v Aeefi o1 griler fop=n sk ?
[Question ID = 1213][Question Description = S2_qSNz_PG_ARC_Q23]

1. Copper/dfar

[Option ID = 4849]
2. Steatite/Jcrast

[Option ID = 4850]
3. Faience/wzifear

[Option ID = 4851]
4. Stone/ucer

[Option ID = 4852]
Correct Answer :-
e Copper/dtar

[Option ID = 4849]

24) Silver makes its earliest appearance in India in which of the following cultures?
forgotferi3aa 3 fopa1 Araple 9 <idt o1 snfdwiia frerar 3 ?
[Question ID = 1214][Question Description = S2_qSNz_PG_ARC_Q24]

1. Neolithic culture/sraummr wrcfler 2zamfer [Option ID = 4853]
2. Harappan culture/ssur 3afer [Option ID = 4854]

3. Chalcolithic culture/amumufies s [Option ID = 4855]
4. Vedic culture/dfg® izapfa [Option ID = 4856]

Correct Answer :-
e Neolithic culture/sraursrr wrefler 3zapfer [Option ID = 4853]

25) Two fine silver seals with a unicorn motif were discovered at:
forgsiferRae 31 A b2 YRrrereT A vyl yelle & <1 aidl &I Jocr #a? fredt 3?7
[Question ID = 1215][Question Description = S2_qSNz_PG_ARC_Q25]

. Harappa/ssun [Option ID = 4857]

. Mohenjodaro/siiesmsitgst [Option ID = 4858]
. Dholavira/zierdiar [Option ID = 4859]

. Kalibangan/wreftgsm [Option ID = 4860]

A W N -

Correct Answer :-
e Harappa/ssux [Option ID = 4857]

26) Which of the following cities was a thriving centre of Indo-Roman trade?

forgaifciRaa PRI 3 Dldl AT oPR 331 - A RMUR DI ST D ol ?

[Question ID = 1216][Question Description = S2_qSNz_PG_ARC_Q26]
1. Korkai/@m2d$ [Option ID = 4861]

2. Madurai/aigs [Option ID = 4862]

3. Arikamedu/sif¥@Ers, [Option ID = 4863]

4. Kaveripattinam/®ra3! udoter [Option ID = 4864]



Correct Answer :-
o Korkai/@mzds [Option ID = 4861]

27) Where is the site of Adam located?

3IGH ol YRIrerel sl e 3 ?

[Question ID = 1217][Question Description = S2_qSNz_PG_ARC_Q27]
. Rajasthan/zmrzemer [Option ID = 4865]

. Gujrat/spsria [Option ID = 4866]

. Maharashtra/s@rmeg [Option ID = 4867]

. Uttar Pradesh/3az yger [Option ID = 4868]

AW N =

Correct Answer :-
® Rajasthan/zmemer [Option ID = 4865]

28) At which one of the following sites was the Painted Grey Ware noticed first?

forgorferRaa garzercii 3 3 el At usd ffeld - o7 JSHIUS URI SR o1 ?
[Question ID = 1218][Question Description = S2_qSNz_PG_ARC_Q28]

. Atranjikhera/sma3sfiast [Option ID = 4869]
. Ahichchhatra/sifgse [Option ID = 4870]

. Bhagwanpura/seraregar [Option ID = 4871]
. Jakhera/srdst [Option ID = 4872]

A w N =

Correct Answer :-
e Atranjikhera/smia3sfiast [Option ID = 4869]

29) Who among the following was the first to issue Silver Coins in Western India?

forgarfeiRaa 31 A1 foparor ufdiedt siea 3 uscht ar 4@iél & Rad sl fpu ?

[Question ID = 1219][Question Description = S2_qSNz_PG_ARC_Q29]
Kumaragupta |/agemzspa | [Option ID = 4873]

Skandagupta/I@aapa [Option ID = 4874]

Chandragupta ll/asgara Il [Option ID = 4875]

Bhanugupta/ strejea [Option ID = 4876]

A WN =

Correct Answer :-

e Kumaragupta |/@gemzspa | [Option ID = 4873]

30) Who among the following fixed the last nail on the theory that wanted to prove the indebtedness of India to Babylon
and Persia for the earliest system of coinage?

forgotferRaa 3 A fooaar 3 Rigia uz sifersr bl Sidbl it ura & greliorasa RBraet guircht & forg 331 aAfdcile iz uf¥fanr o1 spofl Jfaa oen
aEAT o :

[Question ID = 1220][Question Description = S2_qSNz_PG_ARC_Q30]

. A.S. Altekar/u. w3t sree@z [Option ID = 4877]

. E. Thomas/3. eifert [Option ID = 4878]

. D. R. Bhandarkar/s},3R, sisraz [Option ID = 4879]
. E. J. Rapson/s. 31 3wt [Option ID = 4880]

A W N -

Correct Answer :-
e A.S. Altekar/u. w1 sree®z [Option ID = 4877]

31) Which one of the following makes reference to the Asvamedha sacrifice?

forgoifeiRaa & A feprdt sreadte st T I & ?

[Question ID = 1221][Question Description = S2_qSNz_PG_ARC_Q31]

. Besnagar Garuda Pillar Inscription/d3ierpR srss s sifdcrza [Option ID = 4881]

. Nasik cave Inscription of Usavadatta/33aced o1 o3 siféieiza [Option ID = 4882]

. Ayodhya Stone Inscription of Dhanadeva/¢eiga @t riten yzaR sifdiciz [Option ID = 4883]

. Allahabad Stone Pillar Inscription of Samudragupta/cgeIH @I scllerdic YeaR Iaeer sifdrera [Option D = 4884]

A wWN =

Correct Answer :-
e Besnagar Garuda Pillar Inscription/dzeerR s15s saa sifécrza [Option ID = 4881]



32) Which one of the following is the earliest Sanskrit inscription of India?

forgsifer3aa 3 3 wlel - AT HRA @I Yrellolda Ii¥dd 3ifdrcra 3 ?

[Question ID = 1222][Question Description = S2_qSNz_PG_ARC_Q32]

. Ayodhya Stone Inscription of Dhanadeva/¢eiga @1 3ritenn gz sera [Option ID = 4885]

. Junagarh Rock Inscription of Rudradamana/>ggmior @1 Sjoers fSreterza [Option 1D = 4886]

. Andric Stone Inscription of the reign of Rudradamana |/>ggrerer | @ 9omRier @ 3SR yzar 3ifdrerza [Option ID = 4887]
. Allahabad Stone Pillar Inscription of Samudragupta/EIge @ sciemic yzaR 3dser [Option ID = 4888]

AW N =

Correct Answer :-

e Ayodhya Stone Inscription of Dhanadeva/emerda @bt sriten gaz siera [Option ID = 4885]

33) Who among the following had discovered Nickel in the coins of Indo-Greek Kings Euthydemus, Agathocles, and
Pantaleon?

fogsifeiRan 31 fp21 of susIEfis Istsil Yefiseiz, spnelfiern siik terferiler & Riawl 3 fordd enq @I udr cpImrRn ?
[Question ID = 1223][Question Description = S2_qSNz_PG_ARC_Q33]

1. Percy Brown/w=f g3at [Option ID = 4889]

2. John Allan/sifer sretror [Option ID = 4890]

3. Alexander Cunningham/sicrasis? wfefeet [Option ID = 4891]
4. W. R. Sehroff/ssesy, am. offws [Option ID = 4892]

Correct Answer :-
® Percy Brown/wf gmset [Option ID = 4889]

34) Which of the following inscriptions makes first reference to zero?
forgarferi¥aa 3 A fop= f9rerca i g&rd aR 9o @I Scoid férerar & ?

[Question ID = 1224][Question Description = S2_qSNz_PG_ARC_Q34]

. Gwalior stone Inscription of Mihirkula/fifa3wer @& saiferr urmr sifsierza [Option ID = 4893]

Two inscriptions of Vailla Bhatta Swami Temple of Gwalior/saiférR 3 det s1g Fawf #ifée @ o aifdicia [Option ID = 4894]
. Gwalior stone inscription of Mihirbhoja/fifgsiisr & saiferr urmr sifdera [Option ID = 4895]

. Baraha Copper Plate Inscription of Mihirbhoja/fifa2sist & aris amy ud sifsiciza [Option ID = 4896]

A wWN =

Correct Answer :-
e Gwalior stone Inscription of Mihirkula/®ifésewer @& saiferr urmr sifderza [Option ID = 4893]

35) Which Ashokan rock-edict gives the details of Kalinga War ?
forgsiferRae 3 3 Plel -1 PIetcra ®feist g @I Rt Sar 3 ?

[Question ID = 1225][Question Description = S2_qSNz_PG_ARC_Q35]
1. XN

[Option ID = 4897]
2. VI

[Option ID = 4898]
3.1

[Option ID = 4899]
4.1

[Option ID = 4900]

Correct Answer :-
e Xl

[Option ID = 4897]

36) To which sect does Ashoka dedicate the cave cut at Barabar hill, near Gaya.

31911 of 3R @ SISISID RISR UBISI 3 DEl IWI DI fepA AYGRI I AATUA fpa 3 :

[Question ID = 1226][Question Description = S2_qSNz_PG_ARC_Q36]
. Jains/Stat [Option ID = 4901]

. Buddhist/stg [Option ID = 4902]

. Ajivikas/amsfifdast [Option ID = 4903]

. Hindu/f&sg [Option ID = 4904]

A w N =

Correct Answer :-

e Jains/Slat [Option ID = 4901]

37) The famous temple at Modhera is dedicated to which deity?
direT @1 YRig; difce foafeilRaa 3 A1 b Saar o1 Eiftia 8 ?



[Question ID = 1227][Question Description = S2_qSNz_PG_ARC_Q37]
Brahma/g@m [Option ID = 4905]

Vishnu/fewy [Option ID = 4906]

Surya/3f [Option ID = 4907]

Siva/fera [Option ID = 4908]

A w N =

Correct Answer :-
e Brahma/ggi [Option ID = 4905]

38) The Ajanta caves in Maharashtra are dedicated to which religious sect?

RIS, 3 3rsTodr &l BT forgoifeiRaa 3 2 fopar enfdfes vygrr ot waftla 3 ?

[Question ID = 1228][Question Description = S2_qSNz_PG_ARC_Q38]
1. Hindu/f¥sg [Option ID = 4909]

2. Jains/Stet [Option ID = 4910]

3. Ajivikas/amsfifrer [Option ID = 4911]

4. Buddhist/dlg [Option ID = 4912]

Correct Answer :-
e Hindu/fgsg [Option ID = 4909]

39) Who is the author of the famous book, Man Makes Himself?

‘3ol AT RBIRICE' ol YR YIad DI clRad Didl & !

[Question ID = 1229][Question Description = S2_qSNz_PG_ARC_Q39]
1. David. L. Clark/3fds vet acras

[Option ID = 4913]
2. A. H. Longhurst/e. va. dfsrsd

[Option ID = 4914]
3. Gordon Childe/siior ascs

[Option ID = 4915]
4. Graham Clark/spgsa aeirs

[Option ID = 4916]

Correct Answer :-

e David. L. Clark/3fds wet aetres
[Option ID = 4913]

40) Organic materials like charcoal, wood, seeds, plant remains, charred bones, etc. recovered from excavations can be
dated using which method?

Hars A grd Sifde - 3aurg SRl ar®Id, adst, dist, difl sy, Sicll 53 sf$sl seanfe @1 vt fafér o1 gRiet @ gu feafr forerizur o2 amd &
?

[Question ID = 1230][Question Description = S2_qSNz_PG_ARC_Q40]
1. Dendrochronology/3simeilcifsft [Option ID = 4917]

2. Potassium-Argon/dreform - smeler [Option ID = 4918]

3. Fission track/fissior 3o [Option ID = 4919]

4. Carbon-14/mrde - 14 [Option ID = 4920]

Correct Answer :-
e Dendrochronology/Ssiaeircistt [Option ID = 4917]

41) Which of the following methods are related to absolute dating?
A. Radio Carbon Year Before Present (RCYBP)

B. Fluorine absorption

C. Accelerator Mass Spectrometry (AMS)

D. Obsidian Hydration Dating (DHD)

Choose the correct answer from the options given below:

forgotferRaa 3 @it 2l faf?r forruer ferfr forerizur (3far) 24 Heféra 3 ?
A. 331 Dol R R Yic (3= A ard & i)



B. wellf¥or sresireltor

C. yaficRes AR FATYAQY (T & T)
D. sifcfif3aet srs3oret 3far (3l war 1)
ofl fou s1e fraseul 3 3 & Fa= goi ¢

[Question ID = 1231][Question Description = S2_qSNz_PG_ARC_Q41]
1. A, B and C only/@aa A, B aiiz C

[Option ID = 4921]
2. A, Band D only/dqe A, B sz D

[Option ID = 4922]
3. B, Cand D only/@aet B, C iz D

[Option ID = 4923]
4. A, Cand D only/dae A, C iz D

[Option ID = 4924]

Correct Answer :-

e A, Band C only/dact A, B aiiz C
[Option ID = 4921]

42) From which of the following mesolithic sites shallow querns and rubbers have been found but no plant remains have as
yet been recovered?

A. Bagor

B. Langhnaj
C. Tilwara

D. Adamgarh

Choose the correct answer from the options given below:

forgoifeiRaa fopar sreruraIoTs Ferar A fyoa Bra siiz el / ade ur) s1e & cfdser dien a9y sIél URIT sRI 3 -
A. IpiR

B. c=eist

C. fererarr

D. sicaeie

il fou o1 fyeseul 3 31 & 3a= goi ¢

[Question ID = 1232][Question Description = S2_qSNz_PG_ARC_Q42]

1. Aand B only/d>aet A siiz B

[Option ID = 4925]
2. Aand Conly/@aet A siiz C

[Option ID = 4926]
3. Aand D only/dact A 3iiz D

[Option ID = 4927]
4. B and D only/@ac B siiz D

[Option ID = 4928]

Correct Answer :-
® A and B only/dact A siz B

[Option ID = 4925]

43) According to H. de Terra and T.T. Paterson the Soan tools obtained from the terraces of Soan valley are associated
with:

A. Abbevillian
B. Clactonian
C. Mousterian
D. Levalloisean

Choose the correct answer from the options given below:



wa. 41 23 3R . &. Ucdal @ AR Alstorarél ol Afeorsii A yra Alsrel 3umvl fepaads A1 Adfeea 3 ¢
A. wafaferrer

B. weiaciforior

C. difeefro

D. crareifSrier

ofi o s1u fwsedl & A A8 IR BT WRI6l HIfRIU :

[Question ID = 1233][Question Description = S2_qSNz_PG_ARC_Q43]

A and B only/d>qet A siiz B [Option ID = 4929]
A and D only/dbaet A siiz D [Option ID = 4930]
B and C only/adqet Bafiz C [Option ID = 4931]
B and D only/@aet B siiz D [Option ID = 4932]

A W N -

Correct Answer :-
e A and B only/dsaet A siiz B [Option ID = 4929]

44) The Bhimbetka paintings have been studied by which of the following scholars?
A. Yashodhar Mathpal

B. A.C.L Carlleyle

C. F. Fawcett

D. Erwin Neumayer

Choose the correct answer from the options given below:

fogotferRaa 3f 3 Plat - A FIgEl gRI sfisrcs! Rigaarsii o1 sere s siar 3 ?
A. uoner Afdure

B. u2fl. vel. oReza

C. ub. BRRic

D. sfdfor =Yg

il feu aru faeedl 3 A A8 IR @1 TRIet B :

[Question ID = 1234][Question Description = S2_qSNz_PG_ARC_Q44]

A and B only/dact A siiz B [Option ID = 4933]
B and C only/@aet B siiz C [Option ID = 4934]
C and D only/aaet C sfiz D [Option ID = 4935]
A and D only/d@act A siiz D [Option ID = 4936]

A wWw N =

Correct Answer :-
e A and B only/daer A 3iiz B [Option ID = 4933]

45) Pottery is absent at most Mesolithic sites, but it occurs at:
A. Langhnaj in Gujarat

B. Birbhanpur in West Bengal

C. Kaimur region of Mirzapur (UP)

D. Didwana in Rajasthan

Choose the correct answer from the options given below:

sif2rapior Jexr UTdIoTe Fercil A Joais siguierd Bierd & afdper a6 afed aiar 3 :
A. JSRIA 3 ciwolrst A

B. uffre domer & dammergz A

C. deyR (J,dl) @ dag g A

D. Isizene @ Sisarn A

il fou s1u frseul 3 2 & IR BT w6l HIfSIE ©

[Question ID = 1235][Question Description = S2_qSNz_PG_ARC_Q45]



A and B only/d@aet A 3iiz B [Option ID = 4937]
A and C only/d@act A siiz C [Option ID = 4938]
A and D only/daet A siiz D [Option ID = 4939]
B and D only/dact B sfiz D [Option ID = 4940]

A W N -

Correct Answer :-
e A and B only/@aet A siiz B [Option ID = 4937]

46) Which of the following excavated sites are located on the banks of a dried oxbow lake, an old course of the Ganga?
A. Mahadaha

B. Bagor

C. Lekhahia

D. Damdama

Choose the correct answer from the options given below:

forgatferlRaa 31 3 Pdlat -3 Safora Fere sivn & Yriel ART JE! sikge shicr & o saf¥era 3 ?
A. FBIcs!

B. aeiR

C. crafdan

D. Gacan

ofid o s1u faseal & A A8 IR BT wRI6l BT :

[Question ID = 1236][Question Description = S2_qSNz_PG_ARC_Q46]

A and B only/dqet A siiz B [Option ID = 4941]
A and D only/dbaet A sfiz D [Option ID = 4942]
A and C only/dact A siiz C [Option ID = 4943]
B and C only/@aet B siiz C [Option ID = 4944]

A W N -

Correct Answer :-
e Aand B only/@aet A iz B [Option ID = 4941]

47) Charles Darwin wrote the book/books named

A. In the Age of Mankind

B. The Descent of Man

C. On the Origin of Species

D. Climate of the past: An introduction to Palaeoclimatology

Choose the correct answer from the options given below:

arcd sifdor o wlat 2t graw/ grad fordl ?

A. 36l g Ul 3iiw 3ol DPIsos

B. g f33oc 3ifw ot

C. sifal g 3Nf¥fSreat sifw iiefisy

D. aeirsdic siit ¢ U< © Wol sogisadlel ¢ Uferil aemrsaciciist

i) feu sru el 3 A A8 IR D1 WRIet B :

[Question ID = 1237][Question Description = S2_qSNz_PG_ARC_Q47]

1. Aand B only/dact A siiz B [Option ID = 4945]
2. Band C only/dsaet B siiz C [Option ID = 4946]
3. Cand D only/a@aet C 3iiz D [Option ID = 4947]
4. Aand C only/dact A siiz C [Option ID = 4948]

Correct Answer :-
® A and B only/daet A 3iiz B [Option ID = 4945]

48) Both wild and domestic animals were found from the Mesolithic sites at:
A. Mahadaha

B. Bagor

C. Adamgarh



D. Chopani Mando

Choose the correct answer from the options given below:

forgotferfRaa 3 A wal AeauUIIIPIG Fercil A SErch 3R Ulclg, STolaR Sleil UTT 319 :
A. #F5CE!

B. amir

C. cHvIG

D. diurcfl sy

il feu s1u el 3 A A8 IR D1 WRIel B :

[Question ID = 1238][Question Description = S2_qSNz_PG_ARC_Q48]

A and B only/d>det A siiz B [Option ID = 4949]
B and C only/@aet B siiz C [Option ID = 4950]
C and D only/aaet C 3fiz D [Option ID = 4951]
A and C only/d5ac A siiz C [Option ID = 4952]

A w N =

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 4949]

49) Human skeletons of Loteshwar were buried in which condition?
A. Placed in Urn

B. Extended

C. Twin urn burial

D. Crouched

Choose the correct answer from the options given below:

clIeeaR @ dleld dbid b R-erfer 3 cwolv sRY & ?

A. a1 3 e

B. fer<iivt

C. fg @aor graremst

D. forasfer

il fou o1 frapeul 3 2 & IR BT a6l HIfSIE ¢

[Question ID = 1239][Question Description = S2_qSNz_PG_ARC_Q49]

A and B only/dact A siiz B [Option ID = 4953]
B and C only/dqet B siiz C [Option ID = 4954]
C and D only/a@aet C siiz D [Option ID = 4955]
B and D only/dqct B sfiz D [Option ID = 4956]

AN wN -

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 4953]

50) The human skeletons from the following sites were brought to light by Deccan College, Pune
A. Deulga Hills

B. Loteshwar

C. Apegaon

D. Baijapalle

Choose the correct answer from the options given below:

forgaifciRaa foper Feredl 2 JreIa DobIcil Bl Sadol Dicksl GIRT YbI9l 3 ¢RI SRIT ?
A. 33confaca

B. clieea=

C. 3meTia

D. Ssmucer

ofi o s1u fwedl & A A8} IR @I wRI6l BT :



[Question ID = 1240][Question Description = S2_qSNz_PG_ARC_Q50]

B and C only/@aet B siiz C [Option ID = 4957]
C and D only/aaet C 3fiiz D [Option ID = 4958]
A and B only/d>act A siiz B [Option ID = 4959]
B and D only/dact B sfiz D [Option ID = 4960]

A WN -

Correct Answer :-
e B and C only/aaa B siiz C [Option ID = 4957]

51) Which of the following sites are associated with the Chambal and Tapi valleys?
A. Hagda

B. Ahar

C. Savalda

D. Lothal

Choose the correct answer from the options given below:

forgot Ferel & 3 avae q ardl @fe=dl & AT Blol A Ferer AdfeEa & ?

A. siser

B. 3R

C. Jacar

D. clierer

ofi o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 1241][Question Description = S2_qSNz_PG_ARC_Q51]

1. Aand D only/a@aet A siz D [Option ID = 4961]
2. Aand C only/@act A 3iiz C [Option ID = 4962]
3. Aand B only/daet A siiz B [Option ID = 4963]
4. B and C only/adac B siiz C [Option ID = 4964]

Correct Answer :-
e Aand D only/aaet A siiz D [Option ID = 4961]

52) Which of the following structures are associated with Nagarjunakonda?
A. Temple of Kartikeya

B. Amphitheater

C. Stupa of Kunal

D. Temple of Shiva

Choose the correct answer from the options given below:

forgotferfiaa 3 A it - 2t Faei sIPISlorIvsT 3 FHdfera 3 ?

A. oifcida o #fc:

B. wdiftRric

C. @it @I Fqu

D. fora sife

il feu sru faeedl 3 A A8 IR D1 WRIel B :

[Question ID = 1242][Question Description = S2_qSNz_PG_ARC_Q52]

1. Aand B only/d>act A siiz B [Option ID = 4965]
2. Band C only/dsaet B siiz C [Option ID = 4966]
3. Cand D only/a@aet C 3iiz D [Option ID = 4967]
4. Aand D only/a@act A siz D [Option ID = 4968]

Correct Answer :-
e A and B only/dbaer A 3iiz B [Option ID = 4965]

53) Which of the following indicators is used to know the buried features of the soil in photographs?
A. Monuments

B. Water basins



C. Shadow marks
D. Crop marks

Choose the correct answer from the options given below:

fogatferRaa 31 @il IADadw & ReRY b1l BRIIw TRI Brdl & oi gt fadruarsil &t siren s Jaar 3 ?
A. FaAR®

B. Stet - olrig

C. or fus

D. wua @ Rz

il feu aru el 3 A A8 IR D1 WRIel B :

[Question ID = 1243][Question Description = S2_qSNz_PG_ARC_Q53]

A and B only/dact A siiz B [Option ID = 4969]
B and C only/dsaet B siiz C [Option ID = 4970]
C and D only/daet C siiz D [Option ID = 4971]
A and D only/@aet A siiz D [Option ID = 4972]

A w N =

Correct Answer :-
® A and B only/daet A 3iiz B [Option ID = 4969]

54) Which of the following structural remains belong to the site of Kausambi?
A. Warehouse

B. Ghositarma monastery

C. Shyenchiti

D. Stone well

Choose the correct answer from the options given below:

forgaiferlRaa 31 ot - ¥l Fivaony wlonsdl yrrere A Fdfera 3 ?

A. sherr

B. siftarme fasr

C. gaifafe

D. yzar foifdia aari

il fou s1u frpeul 3 A & 3R BT w6l HIfSIE ©

[Question ID = 1244][Question Description = S2_qSNz_PG_ARC_Q54]

A and B only/d@aet A siiz B [Option ID = 4973]
B and C only/d5aet B siiz C [Option ID = 4974]
C and D only/@aet C siiz D [Option ID = 4975]
A and D only/d@act A siiz D [Option ID = 4976]

A WN =

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 4973]

55) Which of the following are the features of early historical period?
A. Punch marked coins

B. Potin coins

C. Russet coated ware

D. Northern Black Polished Ware

Choose the correct answer from the options given below:

forgotferRiae 3t A il - i fadiaad yrfdss YdeilRm o A Jddfea 8 ?
A. siEa Brad

B. diélor @& Ryad

C. TepIs FouIvs

D. a8l mywrnfia gesivs



ofid fu sru farapeul 3 A 2t IR DI TR DifeIw
[Question ID = 1245][Question Description = S2_qSNz_PG_ARC_Q55]

1. Aand B only/d@act A 3iiz B [Option ID = 4977]

2. B and C only/dae B siiz C [Option ID = 4978]
3. Cand D only/asaer C siiz D [Option ID = 4979]
4. Aand D only/dac A siiz D [Option ID = 4980]

Correct Answer :-
® A and B only/d@act A siiz B [Option ID = 4977]

56) Which of the following structures are located at Sirkap city site (Taxila)?
A. Jandial temple

B. Dharmarajika stupa

C. Temple of Hariti

D. Temple of Shiva

Choose the correct answer from the options given below:

forrarferRaa & A @il - 2t Fzaen® Ry (asifdren) sPrR g i Rea 3 ?
A. sifSare 3fe:

B. ewffsrer Fqu

C. shfer o1 difes

D. fora #ife:

ofid fou s1u fwseal # A A8 IR BT <RIl BT :

[Question ID = 1246][Question Description = S2_qSNz_PG_ARC_Q56]

A and B only/d>qet A siiz B [Option ID = 4981]
B and C only/@aet B siiz C [Option ID = 4982]
C and D only/aaet C 3fiz D [Option ID = 4983]
A and D only/daet A siiz D [Option ID = 4984]

A W N -

Correct Answer :-
e Aand B only/@aet A 3iiz B [Option ID = 4981]

57) Early Satavahana king Satakarni is mentioned in epigraphs from these sites
A. Bhaja

B. Naneghat

C. Hatigumpha

D. Sanchi

Choose the correct answer from the options given below:

YRftie AMared IR e viigficrdl 3 sof el ur siftciRaa 3 :

A. sremn

B. airerae

C. arcdiewr

D. wi<ht

i) feu s1u famedl 3 A A8 IR D1 WRIet BRI :

[Question ID = 1247][Question Description = S2_qSNz_PG_ARC_Q57]

1. Aand D only/ddct A 3iiz D [Option ID = 4985]
2. B and C only/dae B siiz C [Option ID = 4986]
3. B, Cand D only/a@aer B, C siiz D [Option ID = 4987]
4. A and B only/dact A siiz B [Option ID = 4988]

Correct Answer :-
e Aand D only/a>act A siiz D [Option ID = 4985]

58) Which were the sites that were excavated by Mortimer Wheeler?

A. Brahmagiri



B. Amaravti
C. Arikamedu
D. Charsadda

Choose the correct answer from the options given below:

forgotferRaa 3 3 fipet - fipor Fercil &t HerE AR Bler TRI BRA o1F ?

A. sEIfdrst

B. sprradl

C. sf¥orErg

D. wzaEn

i) feu s1u faresedl 3 A A8 IR BI WRIet B :

[Question ID = 1248][Question Description = S2_qSNz_PG_ARC_Q58]

A, B and C only/d@act A, B siiz C [Option ID = 4989]
A, C and D only/dsaet A, C siiz D [Option ID = 4990]
A and C only/@act A siiz C [Option ID = 4991]
A and D only/a@act A siiz D [Option ID = 4992]

A wWw N =

Correct Answer :-
e A, Band Conly/adact A, B 3iiz C [Option ID = 4989]

59) Which of the following sites have temples dedicated to Surya or Sun god?
A. Marthand

B. Mahabalipuram

C. Modhera

D. Konark

Choose the correct answer from the options given below:

IRA Saar o1 Faftia ez forgsiiciiRaa 3 1 wai 3 :

A. arcios

B. #rsraciigaay

C.

D. ®wnas

il fou s1u frpeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 1249][Question Description = S2_qSNz_PG_ARC_Q59]

. A, Band Conly/@ac A, B siiz C [Option ID = 4993]
. Aand D only/a@aet A siiz D [Option ID = 4994]
. B and C only/dae B sfiz C [Option ID = 4995]
. A, Cand D only/a>aet A, C siiz D [Option ID = 4996]

A W N -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 4993]

60) At which of the following sites have the Ashokan capital with four lions seated back to back been found?
A. Sanchi

B. Vaishali

C. Nandangarh

D. Sarnath

Choose the correct answer from the options given below:

srofied v ofid BRI u? ar IR v ga? &l 3k dio fbu gu 3 3, ®ef A uRl s A & ?
A. wfft
B. dormrcil

C. cicoPIG



D. Jromer
o f&u s1u farapeul 3 A 2t IR DI R DI
[Question ID = 1250][Question Description = S2_qSNz_PG_ARC_Q60]

A and D only/daet A siiz D [Option ID = 4997]

A, B and D only/d@act A, B sfiz D [Option ID = 4998]
A, B, C and D/A, B, C siiz D [Option ID = 4999]

C and D only/@aet C siiz D [Option ID = 5000]

A W N -

Correct Answer :-
® A and D only/aaa A siiz D [Option ID = 4997]

61) Which of the following places have yielded Ayagpattas?
A. Amravati

B. Kankali Tila

C. Gandhara

D. Bharhuta

Choose the correct answer from the options given below:

forrarferRaa 3 A fop1 Fermet A 'SRIPIUE' gId 8310 &

A. pRIacd

B. @orcliéien

C. sniamrR

D. smga

ofi fou a1 el 3 1 A8t STz gl ¢

[Question ID = 1251][Question Description = S2_qSNz_PG_ARC_Q61]

. Aand D only/a@aet A iz D [Option ID = 5001]
. B and D only/aaet B sfiz D [Option ID = 5002]
. Aand C only/dact A siiz C [Option ID = 5003]
. B and C only/@aet B aiiz C [Option ID = 5004]

A w N =

Correct Answer :-
e Aand D only/d>aet A siiz D [Option ID = 5001]

62) Which two of the following inscriptions make reference to Nahapana?
A. Andhau stone Inscription of the reign of Rudradamana

B. Nasik Cave Inscription of Usavadatta (Regnal year 45)

C. Nasik Cave Inscription of Gautami Balasri

D. Nasik Cave Inscription of Usavadatta (Regnal year 42)

Choose the correct answer from the options given below:

forgotferRaa 31 ¥ fpet ifdrcral 3 srauTvT @I Iecra 3 ?

A. Sgoprel | & oo @ 3isTT fArenfica

B. 3¥aca @1 st sjer siftcra

C. it arcefl @1 suf¥1en 3ger siftrcra

D. Swaca o1 onfras ager ifdda (a5 ad 42)

il feu sru farsedl 3 A A8 IR D1 WRIel B :

[Question ID = 1252][Question Description = S2_qSNz_PG_ARC_Q62]

1. Aand D only/ddet A 3iiz D [Option ID = 5005]
2. Band D only/aaa B siiz D [Option ID = 5006]
3. Cand D only/aae C 3iiz D [Option ID = 5007]
4. B and C only/daet B siiz C [Option ID = 5008]

Correct Answer :-
® Aand D only/d>aet A siiz D [Option ID = 5005]

63) Who among the following Gupta Kings had issued silver coins?



A. Chandragupta |
B. Kumaragupta |
C. Samudragupta
D. Chandragupta Il

Choose the correct answer from the options given below:

forgatferRaa 3 ¥ 3 wIal D p1 IeH of didl & Rrad sl fopu & ?

A. aocepH |

B. maraH |

C. AggaH

D. aogap I

il f3u a1 fraseul 3 A W) IR DI I HIdIE ©

[Question ID = 1253][Question Description = S2_qSNz_PG_ARC_Q63]

A and D only/dact A siiz D [Option ID = 5009]
B and D only/@aet B siiz D [Option ID = 5010]
A and C only/d@act A siiz C [Option ID = 5011]
C and D only/dsaet C siiz D [Option ID = 5012]

A w N -

Correct Answer :-
e Aand D only/daet A siiz D [Option ID = 5009]

64) Which two among the following inscriptions are Saivite?

A. Karamdanda stone Inscription of the time of Kumaragupta |

B. Besnagar Pillar Inscription of Heliodorus

C. Thiruvalangadu Copper Plate Inscription of Rajendra Chola

D. Bhore State Museum Plate Inscription of Dharavarsa Dhruvaraja

Choose the correct answer from the options given below:

forgsiferRae 31 3 Plet A 3l sif¥rcRa 9 URWRI D 3 :

A. AR | ®1 BASST I siffcra

B. 3feRISIA @1 SA6PR ¥ 3ifdrcRa

C. 51 dlel ol Rsarcens, aequd ifsera

D. emrad garrst @ 8k 3T RIBRI U

il feu sru fareedl 3 A A8 IR @1 WRIel B :

[Question ID = 1254][Question Description = S2_qSNz_PG_ARC_Q64]

A and B only/dact A siiz B [Option ID = 5013]
B and D only/aaet B siiz D [Option ID = 5014]
A and C only/d@ac A siiz C [Option ID = 5015]
C and D only/daet C siiz D [Option ID = 5016]

A w N =

Correct Answer :-
® A and B only/daet A 3iiz B [Option ID = 5013]

65) Ashokan inscriptions have been found in which of the following scripts?
A. Greek

B. Kharoshti

C. Prakrit

D. Aramic

Choose the correct answer from the options given below:

forgotfeiRaa ferforil af srolas @ sifdrciza ure ae 3 -

A. 3fi
B. RIsdt

C. grpa



D. sifs®
o f&u s1u farapeul 3 2 I IR BT R DI
[Question ID = 1255][Question Description = S2_qSNz_PG_ARC_Q65]

A, B and C only/d@act A, B siiz C [Option ID = 5017]
C and D only/@aet C siiz D [Option ID = 5018]
A, B and D only/d@aet A, B siiz D [Option ID = 5019]
B and C only/a@qet B siiz C [Option ID = 5020]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 5017]

66) Match List | with List Il

List | List Il

Deposits of Soan River Valley |Glaciation

A. Terrace-1(T+) I. Fourth glaciation

B. Terrace-2 (T2) Il. Second Interglaciation
C. Terrace-3 (T3) lll. Third Interglaciation
D. Terrace-4 (T4) IV. Third glaciation

Choose the correct answer from the options given below:

et -1 B e -1l A e i

oxelt -1 et -1l

(FHret o1&t arét @ f1g) (fRarrror)

A. afder - 1 (&) |. aqgel fBaret

B. afdwr - 2 (&12) 1. g sroafdarror
C. aRw1 - 3 (&3) I11. qrefier aroafEarror
D. afd®r - 4 (&4) IV. gefir oo

il fou s1u frpeul 3 3 A I gforw ©
[Question ID = 1256][Question Description = S2_qSNz_PG_ARC_Q66]

A-1l,B-1V,C-1,D-ll[Option ID = 5021]
A-U, B-1V,C-1,D -l [Option ID = 5022]
A-1l,B-1V,C- L, D- L [Option ID = 5023]
A-1V,B- UL, C-1,D-[Option ID = 5024]

A WN -

Correct Answer :-
e A-I,B-LV,C-1,D-L[Option ID = 5021]

67) Match List | with List Il

List | List Il

Books Authors

A. Quantifying Archaeology I. L.R. Binford

B. Sampling Archaeology 1. David Clark

C. Analytical Archaeology Ill. Stephen Shennan
D. An Archaeological Perspective IV. Clive Orton

Choose the correct answer from the options given below:

et -l ot 3 -1l A Fgafera HifSre :

oxet -1 et -1l

(g) )

A. gaicierEst snfdsAleisit |. gcl. 3R, fdoreIS
B. 3fufeier snfepeiciistt Il. 3fas aars

C. uonferfieaser snfesaiciisit lll. *&der otor

D. ol sufesidifsiaa udtfoea IV, acrsa sndat

ofa 3w o1 el 3 A A I gfom :
[Question ID = 1257][Question Description = S2_qSNz_PG_ARC_Q67]

A-L, B-LV, C-L, D-lL [Option ID = 5025]
A-L, B-LV, C-IL, D-L [Option ID = 5026]
A-lL, B-UlL, C-LV, D-L [Option ID = 5027]
A-lV, B-L, C-UL, D-llL [Option ID = 5028]

AW N =

Correct Answer :-
e A-lll, B-lV, C-, D-ll [Option ID = 5025]



68) Match List | with List Il

List |

IAuthors

A. H.D. Sankalia
B. S.C. Malik

List Il

Books

I. Indian Civilization: The Formative Period

Il. The Origins of Oriental Civilization

C. W.A. Fairservis, Jr Ill. The New Archaeology and Aftermath: A View from Outside the Ango-American World
D. K. Paddayya IV. New Archaeology: Its Scope and Application to India

Choose the correct answer from the options given below:

et -1 B e -1l A g e

oz -| et -1l
(crzaeD) (gzad)

A. Ta. . Arofern ||, 361 RifdenssioE @ g widifea difers

B. vt 2. s |ll. & sif¥fStoe sifw siificer Rafdenssiorst

C. Soc3g .. Ill. f& o3 snfepeiicifsht Us smuedie : U R Bidl IScAEs
[BeRAfRA forR (¢ Uodll - 3uif¥met acs

D. @. gz IV. o3 snfasaiiciist © sca1 TBIu s archidderar ¢ R

il fou o1 frseul 3 3¥ A IR gforw ¢

[Question ID = 1258][Question Description = S2_qSNz_PG_ARC_Q68]
1. A-U,, B-l, C-1Ll, D-lV [Option ID = 5029]

2. A-l,B-lll, C-lv, D -l [Option ID = 5030]

3. A-ll, B-ll, C -, D -lV [Option ID = 5031]
4. A-lV,B -, C- 1L, D-lW [Option ID = 5032]
Correct Answer :-

e A-l,B-l, C-I,D-LV[Option ID = 5029]

69) Match List | with List Il

List |
Sites

List Il
Excavators

A. 16R dune site

|. Robert Bruce Foote

B. Muchchatla Chintamanu Gavi

1. V. N. Misra

C. Yedihalli

lll. K. Paddayya

D. Gulbal IV. M.L.K. Murty
Choose the correct answer from the options given below:

it -l oot 3 -1l A gafera HifSie :

Rxeht -1 reht -l

(zerer) (See1D)

A. 16 31 drcg @1 el |, I g1 B

B. gceverenl Ricaiso] sl Il. 4. gor. f3r9g

C. Afzeel lll. @&. udan

D. sjcraer IV. gt ger. @. et

oii<l f¢u aru famedl 3 A A8 3R gforu :
[Question ID = 1259][Question Description = S2_qSNz_PG_ARC_Q69]

1. A-lV, B -ll, C -llL, D -l [Option ID = 5033]
2. A-ll, B-lV, C-L, D -Ull [Option ID = 5034]
3. A-L,B-ll, C-lt, D -V [Option ID = 5035]
4. A-l, B-L, C-lV, D -ll [Option ID = 5036]

Correct Answer :-
e A-lV,B-ll, C-ll, D-l[Option ID = 5033]

70) Match List | with List Il

List |

A. Banawali
B. Sarai Khola
C. Manda Ill. Indus Valley

D. Dholavira IV. Ghaggar Valley
Choose the correct answer from the options given below:

List Il
I. Manhar Valley
1l. Tavi Valley

el -1 @1 g -1l A Fgaifera Hifste ¢



et -1 et -l

A. Sotracht |. o182 arét
B. IRRIAICT Il. ot arét
C. atist Ill. Rigg arét
D. eifcirdi=r V. zeor arét

ofid f&u sru fpeal 3 A1 Al 3R gfe

[Question ID = 1260][Question Description = S2_qSNz_PG_ARC_Q70]
1. A-U,B-l,C-lvV,D-l

[Option ID = 5037]
2. A-IV,B-ll, C-U,D-l

[Option ID = 5038]
3. AL, B, C-lv,D-U

[Option ID = 5039]
4. A-l, B-lv, C-ll, D-l

[Option ID = 5040]
Correct Answer :-
e A-lU,B-L C-lv,D-U

[Option ID = 5037]

71) Match List | with List Il

List | List Il

A. Koldihwa I. Yamuni Valley

B. Narhan Il. Belan Valley

C. Sonepur Ill. Mandakini Valley
D. Golbai Sasan IV. Ghaghra Valley

Choose the correct answer from the options given below:

et -1 B e -1l A e i

et -1 il

A. leifssar |. fdoft arét
B. cRaol Il. Setot et

C. dlorgz lll. sicifepott et
D. siicas I1=aret V. aerRr arét

oif<l feu aru famedl 3 A A8 3R gforue :
[Question ID = 1261][Question Description = S2_qSNz_PG_ARC_Q71]

A-ll, B -V, C -1, D -l [Option ID = 5041]
A-L, B-ll, C-llL, D -V [Option ID = 5042]
A-llL, B -V, C-1L, D -l [Option ID = 5043]
A-lV, B UL, C-1L, D -l [Option ID = 5044]

A WN -

Correct Answer :-
e A-ll,B-lv, C-l, D-lL[Option ID = 5041]

72) Match List | with List Il

List | List Il

A. Vishvanath temple, Khajuraho I. Pallava

B. Virupaksha temple, Pattadakal Il. Vijayanagar
C. Vitthala temple, Hampi lll. Chalukayas
D. Vaikunthaperumal temple, Kanchipuram [IV. Chandela

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 ot -1

A. feaetrer #ife, aSRIE |. uccra

B. fasurgr sife:, usrswa Il. fasRIcPR
C. faga §ifde, sodt Ill. argaa
D. d@ousac #ifez wiciiya IV. dgen

off<l feu ore fedl 3 A A8 3R gfore :



[Question ID = 1262][Question Description = S2_qSNz_PG_ARC_Q72]

A-l, B-ll, C-lll, D -LV [Option ID = 5045]
A-lV, B UL, C -lL, D -l [Option ID = 5046]
A-ll, B -L, C-lVv, D - [Option ID = 5047]
A-llL, B -V, C -1, D -l [Option ID = 5048]

A WN -

Correct Answer :-
e A-|,B-Il, C-lL, D-LV [Option ID = 5045]

73) Match List | with List Il

List |

A. Matsya avatar
B. Varaha avatar
C. Sri Rama avatar lll. Hiranyaksha

D. Narasimha avatar IV. Haya-Griva
Choose the correct answer from the options given below:

List Il
I. Ravan
Il. Hiranya-Kasipu

gl -1 @1 3 -1l A Fgaifera Hifste ¢

Rxeht -1 il

A, HRT adR |. Jraur

B. aers sradrR Il. Revaastorg
C. off 21 sraar Il. fazvamer
D. sref¥ie saar IV. sefila

ofla fou o1 frseul 3 3 A IR gforw ©
[Question ID = 1263][Question Description = S2_qSNz_PG_ARC_Q73]

B -Ul, C -llL, D -lV [Option ID = 5049]
-llt, C -1, D -t [Option ID = 5050]
-l, C -It, D -lll [Option ID = 5051]
-llt, C UL, D -L [Option ID = 5052]

v,
v,
\"

)

A-l
A-lV,B
A-lV,B
A-lv, B

Correct Answer :-
e A-l,B-ll, C-LlL, D -V [Option ID = 5049]

74) Match List | with List Il

List |

A. Skandagupta

B. Chandragupta Il
C. Kumaragupta | lll. 70-78% Gold

D. Kumaragupta lll IV. 67-79% Gold
Choose the correct answer from the options given below:

List Il
I. 55% Gold
Il. 80% Gold

It -1 Bt el -1l A gakma B

Rreht - Rxeht -1l

A. FdocarH 1. 55% o

B. aocard Il 1. 80% Ao

C. AR | Ill. 70 - 78% At
D. garap IV. 67 - 79% 3o

il f3u o1e frseul 3 A A IR gom ©
[Question ID = 1264][Question Description = S2_qSNz_PG_ARC_Q74]

A-l, B -1, C-lll, D -lV [Option ID = 5053]
A-lV, B -lL, C -llL, D - [Option ID = 5054]
A-ll, B -1V, C -lL, D -L [Option ID = 5055]
A-L, B -Ul, C -1V, D -l [Option ID = 5056]

A W N -

Correct Answer :-
e A-ll,B-L, C-l, D -V [Option ID = 5053]

75) Match List | with List I

List |
IA. Rock Edict Ill Girnar version
B. Rummindei Pillar Edict

List Il
|. Dasavasabhisito
Il. Dvadasavasabhisitena

C. Rock Edict VIl Girnar version

lll.Visativasabhisitena

D. Pillar Edict | Rampurva version

IV. Sadvisati vasabhisitena

LIST Il spellings not sure, plz confirm




Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 et -1l

A. frerrcra Il BReIR JAxd2ur |. GoraufiiRrar

B. »fcISs s Il. srcoraufif3rcer

C. forcrrera VIl BrerR JiFaur 1. forferaunfs3ray
D. ¥ cia | regd Fzaor V. ssidorferaufdiRaar

il fou s1e frseul 3 3 A8 IR gforw ©
[Question ID = 1265][Question Description = S2_qSNz_PG_ARC_Q75]

A-ll, B-lV, C -1, D -lll [Option ID = 5057]
A-lV, B -, C -lL, D -l [Option ID = 5058]
A-ll, B -lll, C -, D -LV [Option ID = 5059]
A-llL, B -1, C -1V, D -l [Option ID = 5060]

A W N -

Correct Answer :-
e A-ll,B-lv, C-l, D -l [Option ID = 5057]

76) Arrange the following books in the CORRECT sequence as per their dates of publication

A. New Archaeology: Its Scope and Application to India by H.D.Sankalia

B. The New Archaeology and Aftermath: A view from Outside the Anglo-American World by K.Paddayya
C. Indian Civilization: The Formative Period by S.C. Malik

D. The Origins of Oriental Civilization by W.B. Fairservis, Jr.

Choose the correct answer from the options given below

forraifeiRaa gram! ot Ioid YmIoletdIa o A8t gt 3 caaf¥erd Hifsme :

A. &3 snfesAeiistt : s¢a1 F@lu Us uftarderel ¢ $f3=1, wa. 1. Aiofern

B. g o3 snfeseiciisll Us smuedrel @ U & GIE MISTATES ¢ Gocll iyl acs; @. ugar
C. e Rifdarssion @ g whkafka difwrs; va. Al afero

D. g anfxfSrer sifw siif¥dcer Rifdemssiont, secy u. BAfdA JforR

sifa fou s1e frpeul 9 A A IR BT a6 HIfSE ¢

[Question ID = 1266][Question Description = S2_qSNz_PG_ARC_Q76]

A, C, D, B [Option ID = 5061]
B, D, C, A [Option ID = 5062]
D, C, A, B [Option ID = 5063]
C, D, B, A [Option ID = 5064]

A w N =

Correct Answer :-
e A, C, D, B[Option ID = 5061]

77) Arrange the following European cultures in chronological order:
A. Perigordian

B. Acheulian

C. Maglemosian

D. Mousterian

Choose the correct answer from the options given below

forgatferRaa JRIURT Frapfer B BramAeRIR *af¥ed bifse :

A. af¥siifSaer

B. srafermet

C. acfSse

D. szei=Ie

il feu sru fareedl 3 A A8 IR @1 WRIet B :

[Question ID = 1267][Question Description = S2_qSNz_PG_ARC_Q77]
1. A, C, B, D [Option ID = 5065]



2. B, C, D, A [Option ID = 5066]
3. B, D, A, C [Option ID = 5067]
4. C, D, B, A [Option ID = 5068]

)

» Uy

Correct Answer :-
e A, C, B, D[Option ID = 5065]

78) Arrange the following life forms in ascending order of their appearance on earth, basis the Geological time scale
A. Reptiles

B. Fish

C. Amphibians

D. Primates

Choose the correct answer from the options given below

i fsirer B 2RI ATUGhl & 3R Uz gedt u? Sfidel & foroiferRan wul @1 3RS i d wraf¥era Hifsre ?
A. IRya

B. st

C. Sicrerefl=n

D. gy

il feu a1u faeedl 3 A A8 IR @1 TRIel B :

[Question ID = 1268][Question Description = S2_qSNz_PG_ARC_Q78]

A, B, C [Option ID = 5069]
B, A, D [Option ID = 5070]
, A, D, C [Option ID = 5071]
C, A, D [Option ID = 5072]

Correct Answer :-
e D, A, B, C [Option ID = 5069]

79) Arrange the following Mesolithic sites in terms of their area (extension):
A. Damdama

B. Mahadaha

C. Sarai Nahar Rai

D. Bagor

Choose the correct answer from the options given below

forgotferRaa sreaaraIoIs Fercil @ Y Jord 81 @ sl 9 wraf¥ea HifSe :
A. cacan

B. wscar

C. IWRIGIIE? IRA

D. amir

il f¢u are famedl 3 A A8l IR DI TRIel IS :

[Question ID = 1269][Question Description = S2_qSNz_PG_ARC_Q79]

1. D, C, B, A [Option ID = 5073]
2. A, B, C, D [Option ID = 5074]
3. B, D, A, C [Option ID = 5075]
4. D, A, B, C [Option ID = 5076]

)

)y My

Correct Answer :-
e D, C, B, A [Option ID = 5073]

80) Arrange the following archaeological sites in chronological order:
A. Sarai Khola

B. Alamgirpur

C. Kili Ghul Mohammad

D. Jakhera



Choose the correct answer from the options given below

forgorferRaa garaifead Fercil ol BITGATGRIR wIaf¥erd Hifsr :

A. IRRRECT

B. smcremefizgz

C. fRpefl 311 Aswc

D. srast

ofid o s1u fesedl & A A8 IR BT wRI6l BT :

[Question ID = 1270][Question Description = S2_qSNz_PG_ARC_Q80]

B, C, A, D [Option ID = 5077]
C, A, B, D [Option ID = 5078]
A, C, D, B [Option ID = 5079]
D, B, C, A [Option ID = 5080]

A W N -

)

Correct Answer :-
e B, C, A, D [Option ID = 5077]

81) Arrange the following in chronological order:
A. Horse bits

B. Iron plough-share

C. Anthropomorphic figurines

D. Copper arrow-heads

Choose the correct answer from the options given below

forgaifeiRaa @I wragpeRIR craf¥ed Hifse :

A. @13 &t oA

B. cilg a1 @1 @It

C. sorafaer (vouisiixibe) spferit

D. a1y - amvmsg

o fou o1 feseul 3 A E = HifSie ¢

[Question ID = 1271][Question Description = S2_qSNz_PG_ARC_Q81]

A, C, B, D [Option ID = 5081]
D, C, A, B [Option ID = 5082]
C, D, B, A [Option ID = 5083]
D, B, A, C [Option ID = 5084]

A W N -

Correct Answer :-
e A, C, B, D[Option ID = 5081]

82) Arrange the following coins in chronological order:
A. Standard Bearer Type coins

B. Chakravikrama Type coins

C. Apratigha Type coins

D. Lion Slayer Type coins

Choose the correct answer from the options given below

forgaifeiRaa Riam! @I wraapdeRIR craf¥ed Hifs :

A. easiemdl yor & Rrad

B. asmfdmd yor & Riad

C. syfera yor & Rrad

D. Ris foreodr YR @ Riad

ofid fou s1u fesedl # A A8 IR BT <RIt BT :

[Question ID = 1272][Question Description = S2_qSNz_PG_ARC_Q82]

1. A, B, D, C [Option ID = 5085]



D, C, B, A [Option ID = 5086]
A, B, C, D [Option ID = 5087]
B, D, C, A [Option ID = 5088]

)

A wN

» Uy

Correct Answer :-
e A, B, D, C[Option ID = 5085]

83) Arrange the following temples in chronological order:
A. Rudramal Temple at Siddapur

B. Tepala Temple at Mount Abu

C. Sun Temple at Modhera

D. Temple at Sunak

Choose the correct answer from the options given below

forgatferRaa dife) Y BrerapueRIR *af¥ed G -

A. B 3 soura #fe:

B. #Sc sng i Aure dife:

C. #ier & I difez

D. Jor & dife

il 3w a1 fraseul 9 A W) IR DI Il HIR :

[Question ID = 1273][Question Description = S2_qSNz_PG_ARC_Q83]

A, C, D, B [Option ID = 5089]
B, D, C, A [Option ID = 5090]
D, C, A, B [Option ID = 5091]
A, B, C, D [Option ID = 5092]

A w N =

Correct Answer :-
e A, C, D, B[Option ID = 5089]

84) Arrange the following Pallava monuments in chronological order:
A. Shore temple, Mahabalipuram

B. Mandagapettu rock-cut cave

C. Pancha-Pandava rathas

D. Vaikuntaperumal temple

Choose the correct answer from the options given below

forgetferRaa uccra FARDI B BIAGIHIGRIR Raf¥ed Hifse :

A. zggadia dfcr, weraciiyza

B. siseriz fOrciicbivt aper

C. uxuisq

D. Saotsar s

il feu s1u el 3 A A8 IR D1 WRIet B :

[Question ID = 1274][Question Description = S2_qSNz_PG_ARC_Q84]

B, C, A [Option ID = 5093]
B, C, D [Option ID = 5094]
, C, A, D [Option ID = 5095]
A, D

1
2
3.
4 , B [Option ID = 5096]

)

Correct Answer :-
e D, B, C, A[Option ID = 5093]

85) Arrange the following Avataras of Vishnu in the correct sequence:
A.Varaha
B. Kurma
C. Matsya

D. Narasimha



Choose the correct answer from the options given below

frouy & fogaiferRaa sraar] o apiag Hifs :

A. as

B. @t

C. I

D. orf¥is

ofi o s1u fwedl & A A8 IR BT wRI6l HifvrT :

[Question ID = 1275][Question Description = S2_qSNz_PG_ARC_Q85]

B, A, D [Option ID = 5097]
, A, B, C [Option ID = 5098]
B, C, D [Option ID = 5099]
D, A, C [Option ID = 5100]

HwN e
@ >00Nn

)

Correct Answer :-
e C, B, A, D [Option ID = 5097]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The Neolithic culture marked the transition in human history from nomadic people of hunter-gatherers to a
sedentary life of agricultural settlements.

Reason R: Studying Catalhyuk has given a better understanding of the transition from a nomadic life of hunting and
gathering to a sedentary lifestyle of agricultural settlements.

In light of the above statements, choose the most appropriate answer from the options given below

ofid A1 werot U a1 3 ;. uop sifdrperct (A) & wu 3 fiRaa 3 @ gar1 3ud @Rl (R) & »a 3 :

aifdrperet (A) @ oraurIire @i dAp[ sferert d PRl Joledl & ArAaRsE A Y snenf¥a snf2arter @ MR - dod Siiget & ik
VT D BU I Silell SR

®RYI (R) : IAccr@Ics D 31errel A PRI 3R Jofed @ U ArEas! Sfidel A Y ARMARIA B IR - dcld Sfladl @ aR 3 JaaR AT &1 s
F

SWRID Pl D 3Icll® 3, ofil 8u sre fvedl 3 A AR IUYTD IR DI RIol DIfSTT :

[Question ID = 1276][Question Description = S2_qSNz_PG_ARC_Q86]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciali 3@ 8 3l (R), (A) &I A&l «rz=n & [Option ID = 5101]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil & & w3sq (R), (A) &t 3 =me=n ot 3 [Option ID = 5102]
3. Ais correct but R is not correct/(A) 3@t 8 woqg (R) @t ot & [Option ID = 5103]

4. A'is not correct but R is correct/(A) 3@ siéf 8 weeg (R) ;& & [Option ID = 5104]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil @l & 3k (R), (A) &t & == & [Option ID = 5101]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Somewhere on the windswept plains of Africa, our earliest ancestors launched an evolutionary saga.
Reason R: The evolutionary trend did not culminate in the modern-day man, Homosapiens.

In light of the above statements, choose the correct answer from the options given below

o O werel Ru s1e § 1 uep aifdrseret (A) @ wu @ filRaa 3 dY gerr sud wrur (R) & wu a
3ifdrperet (A) @ MBIcT @ Wcil sal drcl ol UR Pl AR YRilolad Ydsil of fdRIIcHD JoT bl 931 i
@RI (R) : Roricas ygfa & ufvifer snegfore sgst, sioflenca o »u 3 ol 8
SWRITP Pall D 3MIclid A, ofld fBu s1u fRrpedl 3 A AR IuYTh IR DI Tol HIIT ©

[Question ID = 1277][Question Description = S2_qSNz_PG_ARC_Q87]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) dlall A1 8 3R (R), (A) &t 38 =z & [Option ID = 5105]

2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) Gl 31 & weag (R), (A) &l 3t sen oét & [Option ID = 5106]
3. Ais true but R is false/(A) 3= 3, aifdpat (R) sricx 8 [Option ID = 5107]

4. Ais false but R is true/(A) srie 8, cfdset (R) =18 [Option ID = 5108]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @leil 3 8 &fiz (R), (A) ot 3 == & [Option ID = 5105]



88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The mother goddesses are a characteristic feature of the Baluchi pre-Harappan.
Reason R: In this period, females too enjoyed a very high social status in the region.

In light of the above statements, choose the most appropriate answer from the options given below

offa <l erel Ru sre 3. v sifdrperst (A) @ wu 3 feilaa 3 aY ¢RI 31 ®RuT (R) & wu 3 :
sif¥rperet (A) @ #iIq Sforil it ssvur gd ot fafdreeam 3

®RUI (R) : 331 81q 3 331 @i & kel oIl Pl a8 Ica AP st gra ar
SWRIFD Dol D 3Mrelld #, ofld 8w 31w frapedl 3 A AR IuYeD IR DI TRIol HIFIT ©
[Question ID = 1278][Question Description = S2_qSNz_PG_ARC_Q88]

. Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) il 31t 8 3k (R), (A) &t A& =mezn 8 [Option ID = 5109]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) @il 3 & u3sq (R), (A) &t 3 =me=n a&f 8 [Option ID = 5110]
. Ais correct but R is not correct/(A) 3@t & wog (R) @t adf & [Option ID = 5111]

. Ais not correct but R is correct/(A) 3@l o8 8 w3oq (R) 2@t 8 [Option ID = 5112]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil 2@t & 3z (R), (A) &t 3@ =mz=n & [Option ID = 5109]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The body of many of the stupas in the Andhra region have spoked-wheel plan.
Reason R: The spoked-wheel is a symbol of Buddist Chakra.

In light of the above statements, choose the correct answer from the options given below

offd ot Pl fGu sre 3 @ U 3iftrperet (A) @ wu 3 faRaa & al grI 3@ ®rRuT (R) D a3 @
sifdreperet (A) : aiiee) &I 3 d8d A IQUI D AU 3R - SR - UfdAT USR Uz 3menfya 3

®rRuI (R) : 3R SR - ufd gg aaq) @I o Yedlo 3

SWRIRD Dol D 3MIelld #, ofld 16w 31w farpedl 3 A AR IUuYTP IR DI TRIol IS
[Question ID = 1279][Question Description = S2_qSNz_PG_ARC_Q89]

. Both A and R are true and R is the correct explanation of A/(A) iz (R) il 311 8 32 (R), (A) &t 3@t =m=n & [Option ID = 5113]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) g6l 3 & waq (R), (A) &t 3& s oiét & [Option ID = 5114]
. Ais true but R is false/(A) 3= 3, aifdpat (R) sricr 8 [Option ID = 5115]

. Ais false but R is true/(A) sric 3, aftper (R) A @ [Option ID = 5116]

AW N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sfiz (R) gleil 31 & 3ik (R), (A) &I 38t =mr=n 3 [Option ID = 5113]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Jivadamana was the first king/ruler in ancient India to have issued silver dated coins.
Reason R: People in ancient India were not acquainted with numerals.

In light of the above statements, choose the most appropriate answer from the options given below

offld A1 werot fSu a1 3 : U sifdrverct (A) & wu 3 filaa 3 @ gar sud orur (R) & »a 3 :
atfdrperet (A) @ Siiageiel Yrilel HRA I YU AT / IRID AT BR16l fafd gop aiét @& Rrad sl foeu
@Rt (R) : yreller 81 3 clier Azemnail A ulferT oidt &

SWRID DUl D 3Iclid 3, ikl fGu are fdmedl 3 A AT IUYTD IR DI WRIol DI :

[Question ID = 1280][Question Description = S2_qSNz_PG_ARC_Q90]

1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) @il 2@t 3 8iiz (R), (A) &t 3 =me=n & [Option ID = 5117]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) clail 3@t 8 uzoq (R), (A) 6t 318 wmen oidt 8 [Option ID = 5118]
3. Ais correct but R is not correct/(A) 3@ @ w3sq (R) i@t adt @ [Option ID = 5119]

4. A'is not correct but R is correct/(A) 3@ ae 8 weog (R) :ét & [Option ID = 5120]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) gleil 28t & 3z (R), (A) 6l 31 e 8 [Option ID = 5117]



Topic:- 67Archaeology_B

1) Read the given passage and answer the questions that follow

The transition from nomadic to settled life was largely the result of an economic revolution based on the cultivation of
certain food plants like wheat, barley and rice and the domestication of some animals like cattle, sheep, goat, pig and
buffalo. The step had a profound effect on the history of mankind. The people became sedentary and the assured supply of
food gave rise to a rapid increase in population. Bones bearing cut and charring marks show that pork, beef and other types
of animal food were taken in large quantities. The essential criterion of domestication is that man intends to breed the
captured animals of a certain wild species under artificial conditions. Domestication is both a cultural and biological process.

f2u 31g srEriorn Bl ugm? ofi U s1w yosil @ 3= SifSe :

HI6IEaI9r A ¥er Sliaer @ fére acema ol 56 ad 31g, sil siiR arde S @ e Uil b Bt ik @ ursil i, #dfl, A, abdl, Jr ik
9131 I Urciol Ball o, Sl ffas qpifer T URvIET 6l $31 @6 DI Alol SIIfcl D BRI U= 316 P USI sl 2R 31 31 3R $iistol &bt
Hfoiirer smyfel of Storie 3 il A gig @I Sied &1 DIcol SiiR Sictol @ foronrel dredl sf$s:l 2 udl Tcian 8 fob di®, §iw 3iR 361 YR &
SITelaRl @ HISTol DI I31 A A YRIFISIRID PIet A 81 AT SIAr e UIeIgid>vT @I ifoldarRl HAGISS A8 & i A= GRI i uliR-eferIl 3 v
forf21a sierell gsirdl @ uwms s1e u9rsil @ Yslolel ol Pl AT 3 UICIIDVI Sloil ARDIIPD 3l Sifae gfegan 3

Starting of a sedentary way of life denotes which culture?

Siidel @ IRIHACE] d3id> ®I YRH b1 Jvapia ol geriar 8 ?

[Question ID = 1281][Question Description = S2_qSNz_PG_ARC_Q91]
1. Palaeolithic/gemumfore

[Option ID = 5121]
2. Mesolithic/aezumfors

[Option ID = 5122]

3. Neolithic/oraumufors
[Option ID = 5123]

4. Chalcolithic/damumifs
[Option ID = 5124]

Correct Answer :-
e Palaeolithic/gemumfis
[Option ID = 5121]

2) Read the given passage and answer the questions that follow

The transition from nomadic to settled life was largely the result of an economic revolution based on the cultivation of
certain food plants like wheat, barley and rice and the domestication of some animals like cattle, sheep, goat, pig and
buffalo. The step had a profound effect on the history of mankind. The people became sedentary and the assured supply of
food gave rise to a rapid increase in population. Bones bearing cut and charring marks show that pork, beef and other types
of animal food were taken in large quantities. The essential criterion of domestication is that man intends to breed the
captured animals of a certain wild species under artificial conditions. Domestication is both a cultural and biological process.

feu 31u srErior @ ugdm:? ofld &u a1e gl & 3az Sk ©

HIelgaI9I A 2R Sildel @ e decia @bl 8¢ dm 918, Sil ik ardcd Sl @ e il &I ofY ik o ursli i, #defl, 43, sodl, J3R iR
3131 BT UIcTol 6l o, St 3nfefas apifer a1 uf¥vIa aoll $31 @ BT Alord Siifel B BRI Uz s16a Yaia usT elieT 3R 3t s1u i siisiol &t
Fforfaa smyfef o storizn 3 O6f A giy B Sloa &1 wIcat iR Sterol @ fororet archl 33l A uar acrar 3 5 Wias, diw iz 36T YR D
SIfeTaR] @ #istel @l I31 A A YBIfesIRie @it A 8l b Siar e ureig@?v1 @ siforar] Areics U8 3 b dAo=1 Rl dfder ufsf¥eferil 3 v
forfaer Siereil ysirdl @ uwms s1e u9Lsil @ Yslolel @l @I AT & UICIGDVI Sloil ARFDIad sz Sifas gfdpn 3

Which of the following factors stressed for sedentary life of man?

forratferRaa & A P PRP® of ATRI D URHASRIP Siidel UR el &= ?

[Question ID = 1282][Question Description = S2_qSNz_PG_ARC_Q92]
1. Increase of human population/aera SoRi=n 3 g

[Option ID = 5125]



2. Knowledge of many edible plants/smoi® xrer diell &t SiorbRt

[Option ID = 5126]
3. Knowledge of domestication of animals/ugjsii @ urcrgaur & SrerpRt

[Option ID = 5127]
4. Increase of temperature/ameiet 3 gfg

[Option ID = 5128]

Correct Answer :-
e |Increase of human population/siera SerRi= 3f gfg

[Option ID = 5125]

3) Read the given passage and answer the questions that follow

The transition from nomadic to settled life was largely the result of an economic revolution based on the cultivation of
certain food plants like wheat, barley and rice and the domestication of some animals like cattle, sheep, goat, pig and
buffalo. The step had a profound effect on the history of mankind. The people became sedentary and the assured supply of
food gave rise to a rapid increase in population. Bones bearing cut and charring marks show that pork, beef and other types
of animal food were taken in large quantities. The essential criterion of domestication is that man intends to breed the
captured animals of a certain wild species under artificial conditions. Domestication is both a cultural and biological process.

feu 31U srErior @ ugdm:? ofld &u a1e gesil @ 3az ik ©

HIelgaI9I A 2R Sildol @ e dgecia @bl 8¢ dm 318, Sii ik ardcd Sl @ e il &I ofY ik oo ursli 5, #dfl, ds, sodl, J3R iR
3131 T UIcTol 36l o, Sil 3nfdfas apifer a1 ufvIa aoll $3 @G BT Alord SIIfel B SIERT Uz 316A Yt usT  cllel 3R 31 a1u 3iiz siisior &t
Fforfaaa smyfef o storizen 3 Ol A giy B Sloa &1 wIcat 3iiR Sterol @ fororret arcll 33l A uar dcrar 3 &5 Wias, diw iz 36T YR &
SIfeTeR] @ #istel @l G351 A A YBIeBIRI® ®ict A 8l b Sidr e ureiga?v1 @I Siforar] AleIcs A8 3 b Ao Rl Dfder ufsf¥eferil 3 v
forfare Sferelt geiredl @ uws sre u9rsil @ Yslolel 0! Bl AT & UICIIDVI Sloil ARDIIPD 3 Sifae gfegn 3

What is domestication in the prehistoric age?

yRIfersIfR3Te Jor 3 urergm2v1 o 3 ?

[Question ID = 1283][Question Description = S2_qSNz_PG_ARC_Q93]
1. To live with animals/uagjil & e 3o

[Option ID = 5129]

2. Intends to breed the captured animals/ums s ugjsit @ ysielor bl Fier JxTol
[Option ID = 5130]

3. Intends to breed the wild animals/sirelt SteraRt @ ysieter <t siom

[Option ID = 5131]
4. Use of animals in farming/mf¥ 3 ugysil I 3uiler

[Option ID = 5132]

Correct Answer :-
e To live with animals/ugysii @ eI 3son

[Option ID = 5129]

4) Read the given passage and answer the questions that follow

The transition from nomadic to settled life was largely the result of an economic revolution based on the cultivation of
certain food plants like wheat, barley and rice and the domestication of some animals like cattle, sheep, goat, pig and
buffalo. The step had a profound effect on the history of mankind. The people became sedentary and the assured supply of
food gave rise to a rapid increase in population. Bones bearing cut and charring marks show that pork, beef and other types
of animal food were taken in large quantities. The essential criterion of domestication is that man intends to breed the
captured animals of a certain wild species under artificial conditions. Domestication is both a cultural and biological process.

fu 31g sTeErion Bl UG ol U a1 yosil & 3= SifSe :

HIeIEaI9r A ¥er Sliaer @ fére acema ol 86 ad 31g, Sil siiR arde S @ e Uil b Bt ik @ ursil 5, #dfl, A, Ibdl, AR ik
3131 T Urciol Ball o, Sl ffas qpifer T URvIET 6l $31 @G DI Alol SIIfcl D BRI U= 3163 PIId TSI lisl 2R 31 31U 3R siistol &bt
Hfoiirer smyfel of Storize 3 il A gig @I Sied &A1 DIcol SiiR Sictol @ forolrel dredl sf$s:l 2 udr Tciar 8 fob di®, §iw 3iR 36 YR &
SITelaRl @ HISTol DI I31 AIGH A YRIFTSIRID PIel A 8l fovar SIAr &1 UIeIgid>vT I ifoldaRl AGISs A8 & i A= GRI i uli-eferIl 3 v
forf2ae Siercll yirdl @ uwms s1e u9sil @ Ysiolel M0l BT SAST & UICIIDVT Sloil ARDIID 31z Sifar gfagan 3



How bones of animals indicate of their domestication?

a3l bl sf¥sAl DA sAD urergmv1 @l corledl 3 ?

[Question ID = 1284][Question Description = S2_qSNz_PG_ARC_Q94]
1. Bones bear cut marks only/@e @i fororer areft af$sei g
[Option ID = 5133]
2. Bones bear charred marks only/Siel @ foromerarct! af$si i
[Option ID = 5134]
3. By Radio dating the bones/af¥s:i &t =it Sfest

[Option ID = 5135]
4. Bones bear both, cut and charred marks/@¢ iz Sicl @ orore! drell sf¥sr i

[Option ID = 5136]

Correct Answer :-
e Bones bear cut marks only /e @t foremet arcfl afgsi @
[Option ID = 5133]

5) Read the given passage and answer the questions that follow

The transition from nomadic to settled life was largely the result of an economic revolution based on the cultivation of
certain food plants like wheat, barley and rice and the domestication of some animals like cattle, sheep, goat, pig and
buffalo. The step had a profound effect on the history of mankind. The people became sedentary and the assured supply of
food gave rise to a rapid increase in population. Bones bearing cut and charring marks show that pork, beef and other types
of animal food were taken in large quantities. The essential criterion of domestication is that man intends to breed the
captured animals of a certain wild species under artificial conditions. Domestication is both a cultural and biological process.

fu a1g srErion Bl ugm:? oY 3w a1 yeoil & 3= difSe :

HIGIEaI9r A ¥er: Sliael @ fere acema ol 8¢ ad 31g, Sil siiR arde S @ rEr uldl b Bty ik @ ursil 5, Adfl, s, abd, Jr ik
9131 T Urciol D6l o, SiI ffas qpifer T URVIET J6ll  $31 @G DI Hlol SIIfcl D BRI UR 318 P USI sl FeR 31 31U iR $iistol &bt
Hfoiirer smyfel of Storize 3 il A gig @I Sied &1 @Icol 3iiR Sictol @ foronel aredl sf$s:l 2 udl Tcidr 8 fop di®, §iw 3iiR 361 YR &
SITelaRl @ HISTol DI I31 A A YRIfersIRaa dlel A 8l fopar SIAr e Urelid>vT @l itfoldarl AeISs Aus & fob A= GRI i ufi-eferil 3 v
forf2ae Siercll yeiredl @ uws s1e u9sil @ Ysiolel @0l Bl AT 3 UICIIDVT Sloll ARDIID 3ii= Sifare gfapgan

What is the earliest date of animal domestication in India?

HRA 3 UrcIqa2uT bt JeRt YRt ferfer a=m 3 ?

[Question ID = 1285][Question Description = S2_qSNz_PG_ARC_Q95]
1. 5t millennium B.C. /uiadt ss3pfes
[Option ID = 5137]
2. 4% millennium B.C. /<itelt Ja3pfee
[Option ID = 5138]
3. 6t millennium B.C./sdl 3sqfs
[Option ID = 5139]
4. 2" millennium B.C. /g8l JeqfRe

[Option ID = 5140]

Correct Answer :-
e 5™ millennium B.C. /uferdt vrsqfes
[Option ID = 5137]

Topic:- 67Archaeology_C

1) Read the given passage and answer the questions that follow

A careful study of the Kushana costumes and weapons represented on Kushana coins shows that Sakas and Kushanas wore
the same dress and fought with the same weapons. The Kushanas have nothing in common with those of Greek, Parthians or
Indians. The long Central Asian coat is worn by Wema Kadphises, as shown by his money. The coin image of Wema Kadphises
served as the model of the monumental statue of Kanishka which was discovered at Mat, near Mathura. Wema Kadphises is
shown on his coins as holding a heavy mace. Kanishka is represented on his coins with a long sword, hanging from his belt
and often with a long lance.



forgarfciRaa srerior oI ugd= ofid féu s1e il & Ik difere :

@uIvI Riael ur yzga @uivil &I dorsyur iz sRRIRI @I was Araersil gda 3rerIel a8 f$xardr 3 b @uvr iz 91 A6l a¥ useid A ik
3161 SRRIRT & AT o131 B A GUIVl DI fib, urfaror sierar sl & 1l BB 9t 3Tt I8t e Szt R i e - RIS Ple Pl usol gu
fE-DPSIBRI GRI 01D Gl UR fSFRII oRN & fa-psitberR1 oI Riawm! yfefdd dforsd oI IARDRI YieE o ArSc U 3 Yydd & Sl ALY D
SISISID e A IS RI o1 {da1 - ©sihR1 ol 33D RIaml UR HIdl 316T DI ¢RI fbu gu ¢l SR & Dforsd @l 3AD Riaml R Jec R
clcapedl §¢ U oiddl dc/aR 3R YRI: U ofdd HIcl D AT YIdd fop=n sk 3

Why is Wema Kadphises represented as wearing a long Asian coat?
a1 Db @l cid ClIRIE e Usellol @ AT YFdd o sirer 3 ?

[Question ID = 1286][Question Description = S2_qSNz_PG_ARC_Q96]
1. Wema-Kadphises was a Greek/fiu1-@sibrt v Jolrofl (i) o
[Option ID = 5141]
2. Wema-Kadphises was an Indian/fi@r-osfbrt va smcdlr ar
[Option ID = 5142]
3. Wema-Kadphises hailed from Afghanistan/fde-asftht swpenfordret 3 iR &1

[Option ID = 5143]
4. Wema Kadphises came from Central Asia which had been accustomed to cold/fd@-arsftbarat s1er widrm 3 3R St 33 M DT U 31T T

[Option ID = 5144]

Correct Answer :-
e Wema-Kadphises was a Greek/ fd@1-osfthert v Folroft (sfip) er
[Option ID = 5141]

2) Read the given passage and answer the questions that follow

A careful study of the Kushana costumes and weapons represented on Kushana coins shows that Sakas and Kushanas wore
the same dress and fought with the same weapons. The Kushanas have nothing in common with those of Greek, Parthians or
Indians. The long Central Asian coat is worn by Wema Kadphises, as shown by his money. The coin image of Wema Kadphises
served as the model of the monumental statue of Kanishka which was discovered at Mat, near Mathura. Wema Kadphises is
shown on his coins as holding a heavy mace. Kanishka is represented on his coins with a long sword, hanging from his belt
and often with a long lance.

forgaifeiRaa srerior oI ugd: ofid fou st yesil & Iar v :

UVl Riael ur yrga guivil &I dorsyur iz sRRIRI @I ve Araersil gde srerIe U8 $xarar 3 & @urvt ik 91 A31r6l a¥e userd A ik
Aol SIRIRE B AT IST B & TUIvll BT 3, urffarot srerar szl o mer oo oft Aol o1dl en St s cd 7L - CfdRNE Bic B usal 5U
- DB ERI 361D Hgl UR SR sRI 3 fAur-wsibart @I RBrawm yfafdd oisrse oI FARGRI gfers @ arsd U i ydd 3 Sil AYA D
SISISID AT 3 FISI ORI AT @ - Db @I 3D Riadl ur HEI 16T Pl &1RvI T §u oIk arnm 3 forsd @I 3D RIadl uR dee w2
TIcedl g8 U ciddl AcaR 3iR YRI: Udh ¢13d HIct @ ATA Y ol SR &

Whom did the Kanishka group of the Kushana dynasty succeed?
Do of P31 UIVT |91 o5 e A IJRIRIDR 3 Yrd v :

[Question ID = 1287][Question Description = S2_qSNz_PG_ARC_Q97]
1. He had succeeded Kanishka |/ wfores - | 31 gret fdpenr

[Option ID = 5145]
2. He succeeded Yue Chi/as g dl 3 StRIfEOR Y fpar
[Option ID = 5146]
3. He succeeded Kujula Kadphises/das @get asfthart 3 SR1fR Yrd s

[Option ID = 5147]
4. He was a successor of Wema-Kadphises/ds femi-a&sibert o1 saRifierst en

[Option ID = 5148]

Correct Answer :-
® He had succeeded Kanishka |/ @fore - | 31 g fosem
[Option ID = 5145]

3) Read the given passage and answer the questions that follow

A careful study of the Kushana costumes and weapons represented on Kushana coins shows that Sakas and Kushanas wore
the same dress and fought with the same weapons. The Kushanas have nothing in common with those of Greek, Parthians or
Indians. The long Central Asian coat is worn by Wema Kadphises, as shown by his money. The coin image of Wema Kadphises
served as the model of the monumental statue of Kanishka which was discovered at Mat, near Mathura. Wema Kadphises is
shown on his coins as holding a heavy mace. Kanishka is represented on his coins with a long sword, hanging from his belt
and often with a long lance.

forgoifciRaa srerior @) ugm: ol f&u 1w yesil & 3az difsre @

@uIvT RIaol u? gaqd uIvil bl deryuI 3R sRRIRI @I vw Aeisil Ydd 31€RI6l A8 f$¥ardr 8 i aunvr 3R 91 erel g« usold I 3iiR
ATl SRRIRT & 12 oIsT B g Uil ol Jfies, urfiarer srerar MRdRI & 1 o 97t A3TeT oIdl o1 SIAT P cid a1e - idRIE i Bl usol gu



- DB ERI 361D HgI UR SR sRI 3 fAur-wsibart @I RBrawm yfafdd oismse oI FARGRI gfersn @ arsd 3u i ydd 3 Sil AYA D
SISISID AT 3 FISI ORI AT @ - Db @I 3AD Riadl U HIRl 16T Pl &Rl fbu §u oI aRI 3 wforsd @I 3D Riadl uR dee w2
TIcedl g% U clddl AcIaR 3iR YRI: Udh ¢13d HIct @ ATA Y ol SR &

Which of the following Kushana features formed an integral part of the Indian culture?
forgarferiRaa 3 A oIl &I wlot 2l fadaar srRedl i @1 sifdoe 3ier 37

[Question ID = 1288][Question Description = S2_qSNz_PG_ARC_Q98]
1. Kushana gold coins/agumil &t Fquf g
[Option ID = 5149]
2. Kushana burnt brick size/qgurwii &t udbt $ciapr ama
[Option ID = 5150]
3. Kushana mode of worship/qgumil &bt g fafer

[Option ID = 5151]
4. One of the features of Kushana dress/qumii @ ufSerer 6t v fastdr

[Option ID = 5152]

Correct Answer :-
e Kushana gold coins/gumit &t Fqvuf ggre
[Option ID = 5149]

4) Read the given passage and answer the questions that follow

A careful study of the Kushana costumes and weapons represented on Kushana coins shows that Sakas and Kushanas wore
the same dress and fought with the same weapons. The Kushanas have nothing in common with those of Greek, Parthians or
Indians. The long Central Asian coat is worn by Wema Kadphises, as shown by his money. The coin image of Wema Kadphises
served as the model of the monumental statue of Kanishka which was discovered at Mat, near Mathura. Wema Kadphises is
shown on his coins as holding a heavy mace. Kanishka is represented on his coins with a long sword, hanging from his belt
and often with a long lance.

forgoifciRaa srerior @) ugm: il f&u 1w yesil & 3az difsre @

@uIvT RIaol u? gagd uIvil bl deryuI 3R sRRIRI @I vw Aelsil Yda 31€RI6l A8 f$¥ardr 8 i aunvr 3ii? 91 a6l a¥< useld 9 3R
A3ITeT SRRIRT @5 AT IST B A GUIVI BT s, unfiasrer srerar siRddlRil @ e oo 9t AdTeT 1l o Siat 5 ©id e - WRNE Pl I usal gu
fe1- DRt RI 361 Agl UR SRl sk 3 fer-wsibart @I Rrawmr yfifia ofsrse o FarGRI gfern @ arsd 34 i yadd 3 Sil AYa D
SISISIp 3Ie 3 ST SR A1 31 - st @l 33D Riadl ur Rl 3161 @l &1Rvl by gu coIl srn 3 e @l 3ud Riadl ur Jec
clcaddl §$ U cidel dcrdR 3R YRI: U ol HIC @ AT YFdd fear srm 3

What is the basis of the assertion that Sakas and Kushanas wore the same dress and fought with the same weapons?
33 Dol DI LR TR 3 b 91 31 FUIVI U Aol a3 Usold A 3R Aol RRIRI B AT <I3T Bt & ?

[Question ID = 1289][Question Description = S2_qSNz_PG_ARC_Q99]
1. Sakas were not associated with Kushanas. /9w qurvil 3 sferd o8l &

[Option ID = 5153]

2. There was a cultural similarity between the Sakas and the Kushanas. /9 3iiz qgumvil & i Aivpferd w6 off
[Option ID = 5154]

3. Sakas did not fight any battle. /orel of B g oiel crsT

[Option ID = 5155]
4. Sakas had not inherited the Kushana traditions. /oIl o @guIvr URURISH Pl ol&l 3MUGIRI

[Option ID = 5156]

Correct Answer :-
® Sakas were not associated with Kushanas. /9r qumull 3 dferd ot &
[Option ID = 5153]

5) Read the given passage and answer the questions that follow

A careful study of the Kushana costumes and weapons represented on Kushana coins shows that Sakas and Kushanas wore
the same dress and fought with the same weapons. The Kushanas have nothing in common with those of Greek, Parthians or
Indians. The long Central Asian coat is worn by Wema Kadphises, as shown by his money. The coin image of Wema Kadphises
served as the model of the monumental statue of Kanishka which was discovered at Mat, near Mathura. Wema Kadphises is
shown on his coins as holding a heavy mace. Kanishka is represented on his coins with a long sword, hanging from his belt
and often with a long lance.

forgaifeiRaa sreror oI ugm= ofid féu s1e yeoil & Ik difere :

U1l RIael uR gqd uivil &I d9msur 3R sRRIRI @I uvw AMelrsil ydd 31eRIol A8 fS¥ardar 3 foo aguivr 3R 91 drel a¥+ usold I 3R
JATel BRRIRI @5 AT oIST Bxq A [UIVIT DI 3ficd, UIfA3reT rerar MRARI @ AT T 91 AT oIl AT SIAT &b cid AR - CIIRIE Dic DI Usol gU
-1 GRI 3oId gl UR SR oRN & faa-wpsitbar1 ol Riawm! yfdfdd wmiorsa oI IARDRI gfea o Arsc U 3 yIdd & Sl ALY D
SISISI 3Ic A IS 5RI A1 {31 - DsfbR1 @l 3ud Riadl ur Rl 3161 @l e1rvl fpu gu coIl sr 3 o @l 33D Riadl ur dec
clcadl g¢ U oiddl dciaR 3R YRI: U oldd HIcl D AT YFdd fop=ar srm 3



What was the inspiration for sculptors to carve the statue of Kanishka?
pforse @ arrofl o1 ygfern bt gfet forcu o fere Yrumfia o= e ?

[Question ID = 1290][Question Description = S2_qSNz_PG_ARC_Q100]
1. Statue of Gandhara/smitnz &t gfem

[Option ID = 5157]
2. Statue of Kanishka at Varanasi/armrft &t wfore & yfewr

[Option ID = 5158]
3. Coin-image of Wema-Kadphises/far-wsfbart a1 Bradr yferfda

[Option ID = 5159]
4. Coin-image of Kujula Kadphises/dqgjct - @sfthii o1 RBiaa! yferfda

[Option ID = 5160]

Correct Answer :-

e Statue of Gandhara/srienz &t yfeer
[Option ID = 5157]

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 fSu o1 3ifdst B smemR uz gooll & Iar SIS :

forgoiferiRaa ar=vil fip=il fRrafderern 3 st - 31l f[erll 3 (T-u) DRI reArad] oI Yielord scol 3R EATUD] dal eATUPIi @ 3olurd
@l yzgd ol 3 rafdrencrn 3 et sreamam! & e 1600 3 ArRvil 3 R oR) sifds! @ R R Yool 1-5 ap D 3w S ¢

31EATUD] DI fARIAR dcal :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerr [sreemuast B gfereraan (% )preamads siiz stenftapisii bl gferoraar
A
B
c
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

farerRr-C 31 sremuapt i oot %, faw=r-D iR fasrRr-A 31 afdafera 3u A srearfirapisii &t aget e o gfergrd & ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]



Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvufl # fSu s1u sifds] @ meR U gosll @ 3a= difsme @

forgaiferRaa amevil fdp=il Rrafdercrn 3 31 - 3rcrel ferll 3 (T-u) dRRA reAawm] oI Yfeiord scol 3R EATUd] dal eATII3il @ olurd
@I YFdd ol 3 faeafdencry i et sieamaml i Jwear 1600 3 wrvil 3 1 o1 siis! @ R R Yol 1-5 b D IR ¢ &

3reuchl oI faeRIar &t ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr areemuast B gferoradr (%)sremuds itz sre=mftrapsii bt gfererdar
A
B
c
D
E
F

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

ferer=r-F 3 et srezmaopl & e SiiR farerI-A den faeRr-B 3 safdafera su A sreamuen] &l e @ & fopden siar 3 ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]
1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of Teachers|Ratio of Male to Female Teachers|
A 13% :7




B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 f$u o1 3ifost B smemR uz gooll & Iar SIS :

forgotferiRaa 2ar=vil fip2il Rreafdernern 3 st - 31l f[erll 3 (T-u) DRI reArad] oI YieIord scol 3R EATUD] dal eATUPII @ ouTrd
@l yrgd ol 3 [rafdrencrn 3 et sieamam! & e 1600 3 ARl 3 R oR) ifs! @ R R Yool 1-5 a D 3mR S ¢

31EAUD] DI fARIAR dcol :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerr areemuast B gfereradrn (% )preamads siiz stenftapisii bl gferordaar
A
B
c
D
E
F

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

faerr-F 31 sreamftrastaii &bt Jven siiz faerr-C 3 srezmuat &b Fizen & &k fébdoen siaz 8 ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 fSu o1 3ifost B smenr uz gosll & Iar SifSe :

forgotferiRaa 2ar=vil fdp2il Rreafderern 3 st - 31l f[erll 3 (T-u) DRI reAad] oI YieIord scol 3R EATUD] daT eATTUDII O ouTd
@l yrdd ol 3 [rafdrencrr 3 et sieamam! &I e 1600 3 Arvfl 3 R oR) sifos! @ R R Yool 1-5 a D 3mR S ¢

31EAUD] DI fARIAR dcal :

remaapl bl gferoraar (%) 3R sremftrepisii 61 gferoraan



A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?

ferafiencrr 3 srearumt &I aer I oot 8 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
® 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvufl # fSu s1u sifdst @ MeR U gosll & 3= difsme @

forgaiferRaa vl fdp=il Rrafdenern 3 eI - 31l f[erll 3 (T-u) dRRA reAaw™] oI YieIord scol 3R EATUd] daT AT @ relurd
@l g okl 3 frafdenerr 3 qer sreamuel b i 1600 3 arvfl 3 83 oRY sifst @ smems uz ol 1-5 o d IR < .

31EATUD] DI fARIAR dcol :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerr [sreemuast gferoraar (% )sremuds 3iie sre=mftrpsii bt gfererdaar
A
B
c
D
E
F

Which is the ratio of the humber of female teachers in Subject-E to the number of male teachers in Subject-D?

fere=r-E 3 srenftroptaii &bt e o yferora o1 siofurd fareRi-D 3 sremuen! bl e o1 fopden 3 ?

[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9



[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4.5:3

[Option ID = 14520]
Correct Answer :-
e 5:9

[Option ID = 14517]

Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

TP EATUD GRI U6 D Y1 @ SRRiol yqgfer @ ufraderofierar sierar sia=rar @1 f&p21 3u 3 Siren sirer 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
. Thinking curriculum/fidor urgeraga [Option ID = 14521]

. Instructional variety/siféifer fafeerar [Option ID = 14522]

. Comprehension/zmrst [Option ID = 14523]

. Procedural knowledge/yfeeicsas siret [Option ID = 14524]

A w N =

Correct Answer :-

e Thinking curriculum/Rider urgeraper [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

HRA IRDR D 181 FAJIerRT grRI Fanferd wa.siLall. L. (MOOCs) ygret @0l 3q =i (SWAYAM) s @& =i @I Jottol (R3Simsfoien) o fere
fepetol =Iqgeld 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]
2 Quadrants/2 agefe [Option ID = 14525]
4 Quadrants/4 aqel® [Option ID = 14526]
6 Quadrants/6 agefa [Option ID = 14527]
8 Quadrants/8 agefe [Option ID = 14528]

A wWw N =

Correct Answer :-
e 2 Quadrants/2 aqefe [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement II: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

il St werel fdu are 3 ¢
@0l - | : fapra &l saren & U A 4 ad &bl 3 D e 3 Rgpnefiar Fafer & 3ft acd 3ol Farrer W 3l 3

@0l - || : Faonsii & yfer Al v eI cRIaR €16l oidl Sdl, dl ICYRVI IR BHSIR BIdT & 3R 3fod 3 sdoll BR siar 3 fob Jae @I Yor:
3cfea o8t Rean st Aar iz @rs yuizu A faep 8 sirar 3

IURITH Beroll B 3MIeiid 3, ofil fGu s1u faaseul 3 A A8l 3= B1 wRIal HIfStw &
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

Both Statement | and Statement Il are correct/eret | 3z || Gloil 26t & [Option ID = 14529]

Both Statement | and Statement Il are incorrect/a@erwer | iz 1l el sieta & [Option ID = 14530]

Statement | is correct but Statement Il is incorrect/emet | 31t 8, fpoq e |l sieta & [Option ID = 14531]
Statement | is incorrect but Statement Il is correct/@emt | srei &, fepoq et |l 3@t & [Option ID = 14532]

A wWw N =

Correct Answer :-
e Both Statement | and Statement Il are correct/emt | 3iiz |l gleif 28t & [Option ID = 14529]

4) Match List | with List Il

|Neural system of BrainIType of Memory




A. Conscious I. Implicit Memory

B. Unconscious Il. Procedural Memory|
C. Motor skills Ill. Explicit Memory

D. Own experiences |IV. Episodic Memory
Choose the correct answer from the options given below:

et -1 B e -1l A g i

Rreh -1 =t -1

(33w @ Sefor Fsedt ) (Fgfa gor)

A. ot |, siafoifda gfer
B. srdeor Il. orifafere Fafer
C. uofia wigret (dicr Ravea) Il. JForep Fgfer
D. sncomopra IV. i Fafr

il fou o1 frseul 3 3 A IR gfor ©
[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll,C-1,D-1l[Option ID = 14533]
A-11,B-1,C-1l,D-IV[Option ID = 14534]
A-1,B-1l,C-1V,D-Ill [Option ID = 14535]
A-11,B-1V,C-Illl, D-1[Option ID = 14536]

A W N -

Correct Answer :-
e A-IV,B-1ll,C-1,D-Il[Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:

RIABRAIS 359301 @ oI HAsTrelcards & i sof 39N @ Aamfase fopa St 3 :

A. Fcaiwel

B. Jca forerizur won

C. 3a=n

D. =remefar

E. smor

it fou o1 fyapeul 3 21 & 3a= goi ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/daa A, B, C

[Option ID = 14537]
2. B, Cand D only/@aea B, C, D

[Option ID = 14538]
3. A,Cand Eonly/aac A, C, E

[Option ID = 14539]
4. C,DandEonly/@aa C, D, E

[Option ID = 14540]
Correct Answer :-
e A, Band Conly/aac A, B, C
[Option ID = 14537]

6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:



ollel & SIIel Sid &3 HHRAHD M= difcads zftcdIvil A Fad 3 3k YeiRr aedl uz earer dfoga wd & dl A forsoifciRaa & 3 o= war siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
Feminism/amstarg [Option ID = 14541]

Ethnomethodology /srsuferfaster [Option ID = 14542]

Constructionism/3aencaar [Option ID = 14543]

. Positivism/ferermesemar [Option ID = 14544]

AW N =

Correct Answer :-

e Feminism/amRtarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:

fep21l uf¥acon @ Jder 3 ORI B FWERI oNer 3 fffioel UgleRIl, 3r¢RIeT AeEl FereiiRI 3R SRl RicRIRIl & HRilstel oI @ad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

. Triangulation/fepster [Option ID = 14545]

. Content analysis/frer Jmemf faecswor [Option ID = 14546]
. Corpus/@rdat [Option ID = 14547]

. Mediation/ae=rzerar [Option ID = 14548]

A W N -

Correct Answer :-
e Triangulation/festet [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bac? feasuur &l Do ught @ fere wedl @ Adlaw &I usars o3 :

A. Fe3de ARGA D YAD PBIct I JUTD] B APIber foraret

B. Jrgeider @ dAfeast &bt svren o3

C. orel @1 Aerwd (T) gra o3

D. yRA® BIcH @ Aerwe ot (T) & aelger A fRenfra o3

il féu a1 fraseul 9 A W& 3a= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

. A, C, D, B [Option ID = 14549]
C, B, A, D [Option ID = 14550]
B, A, C, D [Option ID = 14551]
B, C, A, D [Option ID = 14552]

1
2. ,
3.

4. B,C,

Correct Answer :-
e A, C,D, B [Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il
A. R . .

. I. Number of individual items are developed into
Arbitrary e .

a test which is given to a group of respondents

approach
B.
Consensus |[ll. Scale is developed on an ad-hoc basis
approach
C. Item Ill. Chosen on the basis of their conforming to

Analysis  |some ranking of items with ascending and
approach [descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. A
or inclusion in the instrument
scales




L
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera Hifste :

et -1 et <11

A. amefkesd ||, 3icIeT-31cIa1 1) &bl AT DY U ure 3 faRha fasen Ssirar 2
efdcpior RrRY Sazcransit & s @1 o= Sirar 3

B. rdadara

Il. acef tarral ol faolRia fosar S
dcel 3TeR R SIIe 3

C. 3 fRreaduvr |l 3RIEE siiz 3rRIdl it o1ftp Afda @ Jic &I gyuiiaur
efSemlur Bl sreIHUAr @ MER UR TRIfold

D. it IV. ferzae 3 onfdrer wol D fere gofl 31 ISt DI FeAidol DI B>
CatreTr fere forutizrept o1 toter

oflax 3w o1 el 3 A At I gfom :

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-N,B-1,C-1,D-1IV

[Option ID = 14553]
2. A-1l,B-1V,C-1,D- 1l

[Option ID = 14554]
3.A-1,B-1l,C-1I,D-1IV

[Option ID = 14555]
4. A-IV,B-1,C-lIl,D-1I

[Option ID = 14556]

Correct Answer :-
e A-IIlLB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement Il: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

ofid <1 weror Ru s 3 :

@l - | : fg3menst e gurredl w1 smen= 2 8

Do - || @ fE3mensl AP1, coricd Siis @ AT 3l 3ldr & Rrarr s o fore bl 1=e &
JURITP DYoll B 3Tl 3, ol [Su 31u fameul 3 A A8l 3= @I a6l HifSTe ©

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

1. Both Statement | and Statement Il are true/@emw | aiiz || Sleil A & [Option ID = 14557]

2. Both Statement | and Statement Il are false/a@erwt | 8iiz |l Gleil sRicr & [Option ID = 14558]

3. Statement | is true but Statement Il is false/@®emwr | 3 &, fdpoq weret || spier @ [Option ID = 14559]
4. Statement | is false but Statement |l is true/wemol | sRIcI 8 , fboq @erel |l 3r & [Option ID = 14560]

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | siiz |l Grelf 31 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

ToRIdl DI A6 Dol D e v e D sfiar siferp A sifere selluanf¥e 3ICTe-ygIel 36180T 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

1. Vertical communication/3eaferz 2ot @1 [Option ID = 14561]
2. Horizontal communication/giferst 2iquur @1 [Option ID = 14562]
3. Risk communication/sif3aer 2iquur a1 [Option ID = 14563]

4. Personal communication/dafep® 2iuur @1 [Option ID = 14564]

Correct Answer :-



e Vertical communication/3eaferz 3iwur a1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:

forgsiferRaa 3 3 fpAdl ustrol aiftrs AYwvT Wierel @ Hu I bI Sedl 3

A. MMEIDG HIET BT AT

B. smoyfgar

C. bIsd® @ Joicdl DI Yraeist

D. =i &l 9 ot

E. Fdi®oRica® 91t a1 GRIBT

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, Band C only/dact A, B 3iiz C [Option ID = 14565]
. B, Cand D only/asaet B, C siie D [Option ID = 14566]
. C, D andE only/a3ae C, D siiz E [Option ID = 14567]
. B, Cand E only/dsaet B, C siiz E [Option ID = 14568]

A W N -

Correct Answer :-
e A, Band C only/aaa A, B siiz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement II: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

il S perel fdu sre 3 ¢

@erel - | : ADIID HIdI, EID HIUT BT MER BXcdl 3

ool - |l : -k JAd>dl o sraet e sref dxar 3

IWRITD Bl B ATl d, ofid fGu s1u fRrepedl 3 A 8 Iz @ wr=iet HIfdrT :
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

Both Statement | and Statement Il are true/erer | 3z || Gloil 31 8 [Option ID = 14569]

Both Statement | and Statement Il are false/@emt | 3z |1 Gloil 3R & [Option ID = 14570]
Statement | is true but Statement Il is false/ere1 | 3 8 , fboq @eret |l sRir & [Option ID = 14571]
Statement | is false but Statement |l is true/mepl | sRIcI & , fbog el |l A= & [Option ID = 14572]

A wWwN =

Correct Answer :-
e Both Statement | and Statement Il are true/emr | aiz |l Gleif 21 & [Option ID = 14569]

14) Identify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AYUUT &t YR B A8t G bl usdarer 3 ©
A. 333 e
B. isrerar ofzden



C. sra9mu gjzen

D. gwa ¥is gfzdc

ofid fou o1 el 3 2 A8t STz gt ¢

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

B, C, D [Option ID = 14573]
C, D, A [Option ID = 14574]
, C, B, A [Option ID = 14575]
D, A, B [Option ID = 14576]

A W N -

’

Correct Answer :-
e A, B, C, D[Option ID = 14573]

15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics Ill. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -1 B e -1l A g e

Rxeht -1 il

(3ot 9)fdriT) (faroreramd)

A. aiffdes |. Iiguor Fuof

B. >uef farsier Il. Fracseil @ dia Fguor
C. srelgza Ill. Fid>di &I saren

D. Fiofers IV. sreif A ddfeEa

il fou s1e frseul 3 3 A IR gfor ©
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C-1V, D - Il [Option ID = 14577]
A-1ll,B-11,C-1,D- IV [Option ID = 14578]
A-1V,B-1lIl,C-1l,D - | [Option ID = 14579]
A-1,B-1V,C-1ll, D - Il [Option ID = 14580]

A W N -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5, 3.5, ___

8, 6, 4.5, 3.5 @ 3IrgIayd i I Dlol-AT 3D BPM ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

XD urtY oI a1 31611 3 3R Z & uri X &I 3@l el 3 A 33fl & ur Alafea su A 613 Z, Y sk X @ urd agier: fpaot 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A W N -

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]



18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

U WpIcl 3 U Aftb ol G gu ofddr of @al, 96 A3 A &I 9l @I H1$ 3 3A AP A DI @I o= f¥ear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
1. Nephew/adflst [Option ID = 14589]

2. Cousin/adxr aié (avfdror) [Option ID = 14590]

3. Uncle/arar [Option ID = 14591]

4. Son/yq [Option ID = 14592]

Correct Answer :-
e Nephew/sredts [Option ID = 14589]

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement IlI: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofid <1 perer Ru sme 3 :

@l - | : b Bieic # Rpdl Slar a1 &l fore & 33, de Bt J$ A 5° 3l 96 Sl 3

el - | @ af fiere sl @R & Jgsaf v & Rrerfer 3 3mE) agon 9s @l T Al Slell Jysaf 64 Bioic G v, g A ficith
SWRITP Pl @ 3Mrelld 3, ofld 3w s1u Ripedl 3 A A8l Iar I a6t HifSte :

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

Both Statement | and Statement Il are true/erer | 3z |1 Gloll 3ir 8 [Option ID = 14593]

Both Statement | and Statement Il are false/@memt | 3iiz |1 Gloil 3R & [Option ID = 14594]
Statement | is true but Statement Il is false/ere1 | 3 @ , fboq @eret |l sRir & [Option ID = 14595]
Statement | is false but Statement |l is true/mepol | srRIcI & , fbog el |l A= & [Option ID = 14596]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/@mermr | iR 1l Glaii 31 & [Option ID = 14593]

20) Consider the following statements:
A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 14500 at a loss of 20%. The cost price of the mobile is T18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choose the correct answer from the options given below:

frafefRad sifteyl | faar &1

A. U@ 9R H 1 713 46% DI ¢, dF aR H &1 715 10%, 20% 3R 25% Fel & s 8

B. U TETSd @ 20% @1 811 U 14500 ¥ H &4 911 &, Alalsd &I OFld o9 182253 &
D. e 81, s ea 1 L e i ey 28% @

el & e faeeal & 9 wEl I T :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/@aet A siiz B [Option ID = 14597]

2. B and C only/dsaer B siiz C [Option ID = 14598]

3. Aand C only/d@aet A siiz C [Option ID = 14599]

4. Aonly/dact A [Option ID = 14600]

Correct Answer :-

e Aand B only/dsact A gtz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?



forgsiferRae 31 3 Blel-A1 aw I 3 Sl Afp @ Rreardl sk ufdFaferil @ & vider o1 b a3

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]

1. Argumentum and Baculum (force)/smjdica vs dqem (9ifep) [Option ID = 14601]

2. Argumentum ad Hominem (circumstantial)/smfdicat Us aifdowr (a¥ferferse) [Option ID = 14602]
3. Argumentum ad lgnorantiam (ignorance)/smjdica Us seoiRferel (stsierdr) [Option ID = 14603]

4. Argumentum ad Verecundiam (authority)/smefdica ssd@fSer (Yftipr) [Option ID = 14604]

Correct Answer :-
® Argumentum and Baculum (force)/smsfdica s dqeta (9ifep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can
be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true
D. 'No members are voters' is true

Choose the correct answer from the options given below:

as arRil D Rrielt oot 3 Afe "o AT Adacrar o ' Iy 3, Al foreferRaa 3 A e de Bl A8 Alol ST ADAr 3
A. "ft Ao AdCIan & 3RIcA &

B. "@® Ica Aqcr 3 AcA &

C. "t Aga AAqeKH &' AeA &

D. "®I$ AcTa Adaci oidl &' Aea &

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

. A and D only/daet A siiz D [Option ID = 14605]
. A and B only/dact A 3iiz B [Option ID = 14606]

. Band C only/aaet B aiiz C [Option ID = 14607]
. Cand D only/aaet C siiz D [Option ID = 14608]

AW N -

Correct Answer :-
® A and D only/dae A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

forgotferRaa wiol-A1 ¢ awdaIaRl @ PR iR YPR Bl A8 3U I YIdd B 3 ¢
eft camurd) sirca-frarh Aa 3

aed-ferearat M3a oFf off saftp enfifes orél dran

sAfere o1f st enBie cafes MUl o1&l dar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |

[Option ID = 14609]
2. AEE - Il

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]



Correct Answer :-
e AEE - |

[Option ID = 14609]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

sire sfogal &1 Jerar A ucrelf @ arR 3 SRl i ol 3 sfogdl @1 sif¥dea genfora fewn sitar & forgot 3 2 fopaad Gt &

[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]
1. Anumana Pramana/ sropsret yamr gt [Option ID = 14613]

2. $Sabda pramana/erss ygmor grer [Option ID = 14614]

3. Arthapatti Pramana/sterfufer grr [Option ID = 14615]

4. Upamana Pramana/3udirer yamr g1 [Option ID = 14616]

Correct Answer :-
® Anumana Pramana/siojeret gamur gri [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Siiel @ b3 Fasu DI 316 il Dl ASRIAT A Yrd ol s Sirar 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/yrasr [Option ID = 14617]

2. Inference/smmet [Option ID = 14618]

3. Word-testimony/ grsg ggmr [Option ID = 14619]

4. Comparison/3usiret [Option ID = 14620]

Correct Answer :-
® Perception/yger [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI Afredsr @ der d et gferforftre smufeer Rrrea &t froruarsii 3 foreifeRaa onfirer ait 3
A. R g% - PRAIHI 9 BRIe: D dla AYwuT G sigpafer Sar 3

B. A3l ydtrol - gIeI 3l 38 Yoyl 31k sficps] @ fere sieifees ISl (3= € wdH) b sirdcol SR 1@l AR SA1sAA UR 3iibs] &l gor:gufix
q 9SRUT

C. Jarerol Hsreron - uf¥efiRr 3arsAl (solye a 3n3eyc 3arsA) ol forifeld wen a uf¥di Sarsil @ fére gRITpT srgpR1ell @1 HsIcTon
D. scvole uga - $eolc U= A4l d RRI Aud ygrel Bel

il fou s1e fraseul 3 31 & Fa= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/dsaet A, C siiz D [Option ID = 14621]
B, C and D only/a@act B, C siiz D [Option ID = 14622]
A, B and C only/d@act A, B 3iiz C [Option ID = 14623]
A, B and D only/@aet A, B aiiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web




B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the I1l. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifre :

et -1 et -1l

(ferazoT) (SR> Awolil Ug)
A. Sfargdic Jollol @ feru cisdst feraetr BRI acs arss |

A9 U2 a1 S -

B. scIdic u:»'zglmq. “Qﬁﬁm&%ﬁa&iﬁqﬁsqmm".@a‘am

DI IR Sol aIcl PRICT

C. 3czoic WR ¢iRifdie ud widle BXot ardl RISt Bt i &

oot . Ta.él.ud.ud.
D. U1 JdfuedR Sil YRIPIDdl Pl $colc UR Siaggic .
S g e N M e

oif<l fSu aru fawedl 3 A A8 3R gfore :

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-Nl,B-1IV,C-1,D-1

[Option ID = 14625]
2. A-1,B-IV,C-1I,D -1l

[Option ID = 14626]
3. A-IV,B-1II,C-1,D-Il

[Option ID = 14627]
4. A-1I,B-1V,C-1l,D-1

[Option ID = 14628]

Correct Answer :-
e A-IIlLB-IV,C-I,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

ARSI DURIE D aed o 3 fordtifdpa FeRs Fasi=t @1 caf¥ea &ifsre:

A. Sid@rd

B. i3 - dar

C.s3

oikY feu a1v facal 3 A A Ia= ol ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A W N -

Correct Answer :-
e (C, B, A [Option ID = 14629]



29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement Il: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

il &1 perol feu a1 3 :

el - | & e siidRer Brecar Afydecar o BrIBga war 3, 3iiz A iz QR IR BT ITdco! BT 3
e - || : v situdfést RBreea sevoic YaiA Yo wr 3

JURITP Dol D 3Tl 3, ol [Su 31u fameul 3 A A8l 3= D1 =6l HifsTe ©

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

1. Both Statement | and Statement Il are true/@emw | aiiz || Sleil 3 & [Option ID = 14633]

2. Both Statement | and Statement Il are false/a@erwot | siiz |l Gleil sRicr & [Option ID = 14634]

3. Statement | is true but Statement Il is false/memwer | A1 8, fbog @eret |l sRicr & [Option ID = 14635]
4. Statement | is false but Statement Il is true/@memet | 3R @, fbog et || 3 & [Option ID = 14636]

Correct Answer :-

e Both Statement | and Statement Il are true/aermr | siiz |l Sraif 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?

forgotifepd 3 3 Blol SUYTP SHLYIME. (S|fbaet Yok $cewA) fed 3 Sl a8 fadeul 3 A v DI golol A YRIPI b= sirar 3

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
1. Scroll bar/>@fer a= [Option ID = 14637]

2. Push button/gor seat [Option ID = 14638]

3. Progress bar/gey1 arz [Option ID = 14639]

4. Radio button/3f=n gcat [Option ID = 14640]

Correct Answer :-
® Scroll bar/z@jer @ [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgotferRac 3 A Dlol-AT A5T U ool fAfdb201 Ygiraor & BRI oIt BXer 3 ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierett oiter [Option ID = 14641]

2. Melanoma/dceier [Option ID = 14642]

3. Ocular damage/olq eifer [Option ID = 14643]

4. Erythema/amfepan [Option ID = 14644]

Correct Answer :-
e Bronchitis/arrett ofter [Option ID = 14641]

32) Match List | with List I

List | List Il

Class of water

Example/Explanation
pollutants P P

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

. lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -l oot 3gEh -1l A Fgafera HifSre :

et -1 et -1




STcT YgHl I oot 3c180T / RN

A. JPTSTold> DRD |. argsildl sftay gr1 fdafea ofore srafdrse

B. sifa=fisior wa w2l arcx

1. , cIqul, faures 3if @ A
srafdrse Jaet g

C. el & 1. Sftarvy, ysfiary (Qsisn) ok scnfe

dca
D. Ste1 3 getotolier IV. stet 31 geretofic arsee 3R BiRbe diard sefs
ST ford RARIST bt arfer g e 3

oif<l feu ore fpedl 3 A A8 3R gfore :

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-Iv,C-1l,D-1lI

[Option ID = 14645]
2. A-1l,B-1l,C-1,D-1IV

[Option ID = 14646]
3. A-1L,B-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1l,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
e A-I,B-IV,C-Il,D-1ll

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement II: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

il ol Dol fdu srw 3 ¢

Dol - | : afd:3yra &t sEiiforan fRarpar # gf arsdias=ur o1 ufvme &

Dol - || : fRersdiaut # Siarv] I GRIPT B2 AlISe DI ollsglsiol 31 3 AUARIA D &
JURITP Dol D 3Tl 3, ol fGu s1u fadeul # A 38 3= @1 =61 HifSte &
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

1. Both Statement | and Statement Il are correct/eret | 3iiz |l gloil 31&t & [Option ID = 14649]

2. Both Statement | and Statement Il are incorrect/@eret | 3z || Sl sleta 3 [Option ID = 14650]

3. Statement | is correct but Statement Il is incorrect/@erme1 | 3t 8 , fboq @ermw |l sl & [Option ID = 14651]
4. Statement | is incorrect but Statement Il is correct/@erw | s @ , fpoq @t |l 3 8 [Option ID = 14652]

Correct Answer :-
e Both Statement | and Statement Il are correct/aemr | 3iiz |l 2leif 3t @ [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

wIdel Uh PTs fopan & fSrRIapT SuRiler 3rufdrse Siet A a1 9Ly ol 3 fpa S 3:
A. sftfa forcifaa o1 ugrelf @1 serar 3

B. g Sifadbi sne Hlas & fere

C. aa 3iiz 3ff (3fis1) B serar 3

D. Ste1 @ 3Rl woRAr &l seral i



il fou o1 fyeseul 3 21 & 3= goi ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]
A, B and C only/@ac A, B siiz C [Option ID = 14653]

B, C and D only/aact B, C sfiz D [Option ID = 14654]

A, B and D only/dsaet A, B aiiz D [Option ID = 14655]
A, B, Cand D/A, B, C aiz D [Option ID = 14656]

A W N -

Correct Answer :-
® A, Band C only/aae A, B siiz C [Option ID = 14653]

35) Match List | with List Il

List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C,FH;3Cl; Il. Halons
C. CoF4Cly Ill. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera HifSre :

oret -1 oreht -l
sifsilel gifa ucref Sie

A. C3HF7 I. HCFC
B. C,FH;Cl; Il. 3ciio=a
C. CoF4Cly lll. HFC
D. CF3Br IV. CFC

oifa feu a1u farasedl 3 A A8 3R gforu :
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

A-1,B-1ll,C-1l,D-IV[Option ID = 14657]
A-11,B-1,C-1V,D- Il [Option ID = 14658]
A-1l,B-1v,C-1ll, D-I[Option ID = 14659]
A-1V,B-1l,C-1,D- Il [Option ID = 14660]

A w N =

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g oI SIel Uz Soa 118 Jzermeil & wafféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
India/ema [Option ID = 14661]

China/ler [Option ID = 14662]

USA/geru. [Option ID = 14663]

Russia/¥a1 [Option ID = 14664]

A W N -

Correct Answer :-
e [ndia/sma [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgaifeiRaa Y SoId> 3106l WA BITGAGRIR afded Hifsre
A. BIcheT SRIeT
B. JdscR ARIBT

C. Jira origa (Bercer)
D. rsie wison  (tetrer)



E. gs 330
il fou s1u fyeseul 3 2 & 3a= goi ¢
[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

E, A, B, D [Option ID = 14665]
, E, B, A, D [Option ID = 14666]
E, B, D, A [Option ID = 14667]
B, E, A, D [Option ID = 14668]

)

)

HwnN =
'aNaKaNs)

y by

Correct Answer :-
e C,E, A B, D[Option ID = 14665]

38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forgarferiRaa 4 A @it A Aifafere forpr 3 :

A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il fou s1e fraseul 9 3 & Fa= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/d>aet A siiz B [Option ID = 14669]
C and D only/aaet C sfiz D [Option ID = 14670]
A and C only/a@act A siiz C [Option ID = 14671]
D and E only/@aet D siiz E [Option ID = 14672]

A W N -

Correct Answer :-
e Aand B only/dact A siiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 St 2ft bt Ferruen o Foa D e gF 3 ?

A. o1 3l Ica fren 3 sigpRien 3R slayddieil &l aerar Jolr

B. farafdemcrit {318 @ FArGIdl ®I WoarIel, forerfzur siiz Sxasmer

C. Tor 3 Ica fren aw uga I dGTel

D. frafdencril sl Bicisil B Mogloll @I AT well

E. 3@ aen Isa IRERI SR Iaa fren siffemner el & dia dstayvl ot & wu 3 Aar Ygrel Bl
ofid fou s1u feseal & A A8 IR BT <RIl BT :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

A, C and E only/d@act A, C 3iiz E [Option ID = 14673]
A, B and C only/@aet A, B aiiz C [Option ID = 14674]
A, B, C and D only/daet A, B, C 3iiz D [Option ID = 14675]
B, D and E only/d>act B, D siiz E [Option ID = 14676]

A w N =



Correct Answer :-
e A, CandE only/aaet A, C siiz E [Option ID = 14673]

40) Match List | with List Il

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR |ll. Promotes research in History

C. ICPR |lll. Promotion of quality in Technical Education
D. ICSSR |IV. Promotes research in Social Sciences

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

et -1 et -1

A. AICTE |. coforom & 3roIRieiel Bl dGTol

B. ICHR II. sRrar 3f aropienor o1 agron

C. ICPR Ill. aooficht forgm bt spurasr oI gerar Sl
D. ICSSR IV. srenfSies forsimell 3 siofRieneT ® aGiell

il fou o1 fseul 3 ¥ A8 IR gforw ©
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-1I,B-1l,C-1,D- IV [Option ID = 14677]
A-11,B-1l,C-1V, D -1[Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
A-1V,B-1l,C-IllIl, D-1[Option ID = 14680]

A W N -

Correct Answer :-
e A-Ill,B-1l,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The concept of social exclusion is multidimensional because of:

AP dfdepR &I sraemv R BRI A JgsmrIed 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

1. multiple groups to focus on/fafer el w2 dfga [Option ID = 14681]

2. variations in deprivations/ddoei @ Fazu 3 fdeorar [Option ID = 14682]

3. the prevalent notion about social outsiders/menfSie ¥u A a3t clbll & ar 3 yaferd s@earvn [Option 1D = 14683]
4. social statuses across nations/ziguf Ser 3t Jmnfrs Rerfer [Option ID = 14684]

Correct Answer :-
e multiple groups to focus on/fafder Jegel w2 dfga [Option ID = 14681]

2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The new reflection on social exclusion has emerged from

ARG af¥epR U= oid - Ridel waf 3 3cusd g3 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

1. The industrialisation process in Europe/zRu 3 sffelisfiaszur gfepen [Option ID = 14685]

2. The arrival of new scholarship in sociology/mistonze 3 oRI UifScr (IpeRiSM) @1 smeriel [Option ID = 14686]
3. The technological impact on societies/?misl w adoiidt ysma [Option ID = 14687]

4. The changes in the nature of social inclusion/mfSie 96T & Fa=u 3 deerrd [Option ID = 14688]

Correct Answer :-
e The industrialisation process in Europe/zRIu 3 sieisfiasur gfepgzn [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing



nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The post-industrial society and economic restructuring have contributed for
IR - 3iiEnBrs s iR snfefes Yorien o fpard fere Apreret & 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/JspR #8 w yeifdar [Option ID = 14689]

Strategies aimed at social integration/3mnfSie wdbimur & aféra wshferif [Option ID = 14690]
Fragmentation of welfare state/@camwrerR! 3 @I fiaema [Option ID = 14691]

Social disintegration into new deprived groups/sia dferd gl 3 AEfeie faravser [Option ID = 14692]
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Correct Answer :-
e The reconsideration of employment issue/3IspIR #g w yoifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The scholarship on social exclusion has gone beyond
AefeIe afdsmr uifdca (Faicrid) s3ad W S gor 3 ¢

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]
1. The reach of governments/3r®rR! 61 uga [Option ID = 14693]

2. The conventional thinking/wwer A [Option ID = 14694]

3. The normal issues of deprivation/dden @ mwie 35 [Option ID = 14695]

4. Common perspectives of inclusion/m@mdsrel @ Amweie ufsygn [Option ID = 14696]

Correct Answer :-
e The reach of governments/3R®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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The concept of social exclusion is now
ARRID af3sPR B IISID AEMRY S &

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdkr ciisli uz dfee fawer (fier) [Option ID = 14697]

2. Anissue of developmental capability/fd@ricres et o1 7gr [Option ID = 14698]

3. A commodity for export from the North to the South/3a= 3 g &t @ew forifa @ fére azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/dfq® Fawu arcft, uf2weft sitemef 3t as? et g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/=Rxdl eieil ue @i fawrr (efier) [Option ID = 14697]





